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��- � &�- �$%B E �" E� "�$$

k æç cfhC (�#�%��0 � ��� ��u����� �11���" �� E �� �� � �
��- � &��- �E��F E �$$ �$$�E #� �� �H1$�"��$% "������� � � �����=�u 2 ��E��� -���$��0
1�E�� ��� "�-1#�������$ "�-1$�H ��%C

�



´µ´µè é»¼»êÄ»êº¼Ã ¾·¸ ¹º» Á¾Â¹ÃÄ

�� E �� - ��% 1��2$�- � �� "�-1#��� +����� B �2D �"� ��"�0������ ��+�$+�� ���$��0
E �� $��0� ��0���� �& #�"�������%C (����=�&=� �=��� �2D �"� -���$� �� ��� "�1�#��
�$$ �& � � �#��"�� �& �� �2D �"� ��� �� �� �� 1����2$� &�� ���=�2D �"�� �� ,� � �
-���$ +��% E�$$ B �� &�� �"�#�$ �2D �"�� �� ,� � � -���$ 1 ���$%C �� � � ��-� ��- � B
1 ���0��1 � "������ ����� �#� �� &�"���� $�F� �- �0� "�-1������� ��� �-1��&�"�
"�- ��� ������� G �+�� �� ����$ "�- ��� E�#$� ������#"� �-2�0#��% 2 �"�#�� �� 1��D �"��
� � ���=��- �������$ �"��� ���� � � �E�=��- �������$ 1$��� �& � � �- �0��0 ������ C
: #� �� �2D �"� ��"�0������ #�"�������% ������ 2 �"�#�� �� �2D �"� - ���$ �� ��� ��
�H�"� ��1����������� �& �� �2D �"� s� + ��#�$ �11�����"� ��� � ��0���$ �- �0� �� ��� ��
�H�"� ��1����������� �& � ���$=E��$� �"��� C

å d_®c®«m«hg«­ ` _kemh x�� hgcg«hg«­cm ` _kemh y ��� � ���#��$ E�% �&  ���$��0 � ��
#�"�������%B ��� >�%����� ��������"� �� 1����"#$��  �� 2 �"�- � 1�1#$�� &�� �������=
��0 � E ��� ���0� �& "�-1#��� + ����� 1��2$�- � ¨|� B |{ B �5 B }6 B }{ B 66 B 6�© C 8�
� 1��2�2�$����" - ���$ � ��� ��� �����- +����2$�� � �� ���"��2 � � � ����� �& � �
E��$� ��� � ��� �& 1��2�2�$��% ������2#����� � �� "�1�#��� � � "����$������ 2 ��E���
� ��� +����2$�� C (�- � �& � � �����- +����2$�� ��� ����"�$% �2���+�2$� E �$� �� ��
+����2$�� ��� ��� C >�%����� ��������"� 0�+�� � 1��2�2�$����" &��- �E��F &�� ��&�����0
+�$#�� �& x�� ������2#����� �+��y � � #��2���+�2$� x�� ë «kkef y +����2$�� 0�+�� � �
+�$#�� �& � � �2���+�2$� +����2$�� ��� 1���� F��E $��0� �2 �#� � � E��$� C 8� � �
�1 �"�," "��� �& �2D �"� ����"���� B E� "�� � ��F �& �� �- �0� �� � �����- +����2$�
� �� "�� 2 � �2���+�� E �$� �� �2D �"� s� $� "����� �� � � �- �0� �� � ë «kkef �����-
+����2$� � �� "����� 2 � ����"�$% �2���+�� C

?��� "��"����$%B "������� � 1���=2���� -���$ E �� � ��� �&
n

1����
V =

{v1, . . . , vn}
C : � $� "����� �& �� �2D �"� �� �� �- �0� �� 0�+�� 2% � "��,0#������

z



�& ��� 1����
L = (l1, . . . , ln)

B E ���
li

�� � � $� "����� �& � �
i
� 1��� Cì L� "�� +��E

� � �- �0�
I
�� � ��� �& �2���+�2$� �����- +����2$�� ��"����0 � � "�$�� ��� �����=

���% �� ��" 1�H�$ B E �$� � � "��,0#������
L

�& � � �2D �"� �� ��� ����"�$% �2���+�2$� C
* ���0 >�%�� s $�E B � � 1��2�2�$��% � �� � � �2D �"� �� �� � 1����"#$�� "��,0#������
0�+�� �� �- �0� ��� � ,H�� ��� �& - ���$ 1���- �����

M
�� B

PM(L|I) =
PM(I|L)PM(L)

PM(I)
.

x[C[y

9��� B
PM(I|L)

�� � � m«í em«ë __k �& �2���+ ��0 �- �0�
I
0�+�� � �� � 1����"#$�� "��=

,0#������ �& � � �2D �"� � ""#�� �� � � �"��� B E �$�
PM(L)

���
PM(I)

��� � � b d«_d
1��2�2�$��% ������2#����� �� �2D �"� "��,0#������ ��� �- �0�� B ���1 �"��+�$%C 8��#=
���+�$%B >�%����� ��&����"� "�-2���� E �� �� F��E� �2�#� � � �����- +����2$��
� ��� �& ��- � x� � 1���� ������2#���� y E �� � � ������ �& � � �2���+�2$� +����2$��
x� ��#0 � � $�F�$� ��� ������2#���� y �� 1���#"� �� ����- ��� �& � �  ����� +����2$��
x� � 1 �������� ������2#����y Cî

´µ´µï ðñâ¹¿¹ñº¹

A�E E� "�� &��-#$��� �2D �"� ��"�0������ �� � ��������"�$ ��&����"� 1��2$�- �� � ��
>�%����� &��- �E��F C ��1�����0 �� � � �11$�"����� B � ��� ��� �E� - ��� ���F� � ��
��� �&��� ��- ����� �& �� �2D �"� ��"�0������ �%���- � "$����,"����� ��� $�"�$�t�=
���� Cò >�� �& � ��� "�� 2� &��-#$���� �� ���- � �& � � ��������"�$ &��- �E��F C

óôÉ ÖÉËÒ õ ÕÎ ÏËÑÓÎÒö ÓÒ Ë ÔÉÍÜ ×ÉÒÉÍËÕ ÚËÜ ÷ ÑÈÉ ÕÎ ÏËÑÓÎÒ ÊÌËÏÉ ÏÎØ ÕÛ ÈËÔÉ ËÍÞÓÑÍËÍÜ ÛÓÖ ÉÒÊÓÎÒø
ËÕÓÑÜ ÊÌ ÉÏÓÐÜ ÓÒ× ÑÈÉ ÌËÍÑ ùÊ ÌÎÊÓÑÓÎÒ Ù ÎÍÓÉÒÑËÑÓÎÒ Ù ÊÏËÕÉ Ù ÉÑÏ à úÒ ÑÈÓÊ ÑÈÉÊÓÊ ÚÉ ÐÎ ÏØÊ ÎÒ ÑÍËÒÊÕËÑÓÎÒø
ÓÒÔËÍÓËÒÑ ÍÉÏÎ×ÒÓÑÓÎÒ ËÒÛ ÑÈØÊ ÑÈÉ ÕÎÏËÑÓÎÒ ÊÌËÏÉ ÓÊ ÊÓÖÌÕÜ ÌÎÊÓÑÓÎÒ ÓÒ ÑÈÉ ÑÚÎøÛÓÖ ÉÒÊÓÎÒËÕ ÓÖ Ë×É Ù
li = (xi, yi)

Ù ÞØÑ ÑÈÉ ÊÑËÑÓÊÑÓÏËÕ ÐÍËÖ ÉÚÎÍû ËÒÛ ÑÈÉ ËÕ×ÎÍÓÑÈÖ Ê ÚÉ ÛÓÊÏØÊÊ ×ÉÒÉÍËÕÓüÉ ÑÎ ËÒ ËÍÞÓÑÍËÍÜ
ÒØÖÞÉÍ ÎÐ ÛÓÖ ÉÒÊÓÎÒÊ à

ýÇÈÉ ÌÍÓÎÍ ÎÔÉÍ ÓÖ Ë×ÉÊ
PM (I)

ÓÊ ÒÎÑÎÍÓÎØÊÕÜ ÛÓþ ÏØÕÑ ÑÎ ÛÉÝÒÉ ÿ��� ÷ ÑÈÉ ØÊØËÕ ÊÎÕØÑÓÎÒ ÑÎ
ÑÈ ÓÊ ÌÍÎÞÕÉÖ ÓÊ ÑÎ ËÊÊØÖ É Ë ØÒÓÐÎÍÖ ÌÍÓÎÍ �Ó àÉ à ËÕÕ ÓÖ Ë×ÉÊ ËÍÉ É�ØËÕÕÜ ÕÓûÉÕÜ � Ù ËÒÛ ÚÉ ÑËûÉ ÑÈËÑ
ËÌÌÍÎËÏÈ ÈÉÍÉ à�ôÉ ÌØÍÌÎÊÉÕÜ ËÔÎÓÛ ØÊÓÒ× ÑÈÉ ÑÉÍÖ Ê ��	�
	��
 ËÒÛ ��
��
�	��
 ÈÉÍÉ Ù ËÊ ÑÈÉÓÍ Ö ÉËÒÓÒ×Ê ÔËÍÜ
ËÏÍÎÊÊ ÑÈÉ ÕÓÑÉÍËÑØÍÉ à �ÎÍ É�ËÖÌÕÉ Ù ÿ��� ØÊÉÊ ��	�
	��
 ÑÎ ÛÉÊÏÍÓÞ É ÚÈËÑ ÚÉ ÏËÕÕ ÕÎ ÏËÕÓüËÑÓÎÒ Ù ÚÈÓÕÉ
ÛÉÑÉÏÑÓÎÒ ÓÒ ÿ��� ÓÊ Ø ÊÉÛ ÑÎ ÍÉÐÉÍ ÑÎ ÚÈËÑ ÚÉ ÏËÕÕ ÏÕËÊÊÓÝÏËÑÓÎÒ à

}



: � ­mchh«° ­cg«_f 1��2$�- �� �� ��"��� �& � � �- �0�  �� �� ������"� �& � � �2D �"�
xE �" E� "�$$  %1�� ����

w1

y �� �& �� �#" ������"� �H ���� x %1�� ����
w0

y C :�
-�F� � �� ��"����� �� �� ���#��$ �� "������� � � >�%�� s &�"��� ¨|z© B

PM(I|w1)

PM(I|w0)
,

x[C4y

��� "�-1��� �� �� � � ��� �$� �� - �F� � �  ��� I%��J �� I��J "$����,"����� ��"����� C

8� m_­cm«�cg«_f E� ���F �� ,�� � � $� "����� �& � � �2D �"� �� �� �- �0� C !��- �
��������"�$ 1 ���1 �"��+� � � ���F �� �� ,�� � "��,0#������ �& � � 1���� � �� - �H�- �t��
� � 1�������� 1��2�2�$��%B

L∗ = arg max
L

PM(L|I).

��1 �����0 �� � � �11$�"����� E� - �% ��/#��� -#$��1 $�  %1�� ���� �& � � �2D �"� s�
$� "����� ������� �& � ���0$� ����- ��� C 8� � �� "��� �� �� ���#��$ �� hc`b me -#$��1$�
"��,0#������� &��- � � 1 �������� ������2#���� C

´µ´µ� ðñÂ¹ã ¹ñÂ¹ñº¹ ¼ÄÄ�Áã»ê¾ñÄ ¼ñÂ ½¿¼ã� êº¼Ã Á¾Â¹ÃÄ

: � "�-1#�������$ "�-1$�H ��% �& � � ��&����"� ���F� D #�� ���"��2 �� ��  �0 $% ��=
1 ������ �� � � &��- �& � � $�F�$� ��� ������2#����

PM(I|L)
��� � � �1����$ 1����

PM(L)
C : ��� ��� �E� �-1������ ��"������ - ��� E �� ����0���0 � -���$ �� � ��

��������"�$ &��- �E��F � �� ��~#��"� � � "�-1#�������$ "��� � � � " ��"� �& ������=
2#���� ��� � � ����1 �����"� ���#-1����� C

8� " �����0 � � �%1 � �& ������2#���� B � ��� �� � �����=�u 2��E��� 1��"��"�$��%
��� �""#��"% �& � � -���$ C A��=1���-����" ������2#����� �$$�E &�� ��2�����% �%1 ��
�& "����$������ �� 2 � "�1�#��� �""#����$%B 2#� � �% ��� ��K "#$� �� $���� ��� ��1��=
���� �#� �� � � $��0� �#-2�� �& 1���-����� G � #� 1���-����" ������2#����� �#" ��
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'�#������ ��� �&��� -��� 1��"��"�$ C 8� � �� � ���� E� 1������ �E� +������� �& � �
��&����"� �$0���� - � � ��� � �� - �F�� �� ���#-1����� �� � � �%1 � �& ������2#���� B
��� ���� �� � �� ���#-�� '�#����� ������2#����� 2#�  �� � $�E�� "�-1#�������$
"��� C

: � ��"��� �-1������ ��"����� �� ����0���0 � ��������"�$ -���$ �� � � ��� �&
����1 �����"� ���#-1����� � �� ��� - ��� �2�#� � � �����- +����2$�� C 8� �� 1��=
��2 $� �� ���#- � � �� �$$ �& � � �����- +����2$�� ��� ����"�$% "����$���� E �� ���
���� �� x� C� C �� ����1 �����"� ���#-1�����y 2#� �H�"� ��&����"� �� �����"��2$� ��
� �� "��� C : #� ��� -#�� ��� �� ����$� &�� �� �11��H �- ��� ��&����"� �$0���� - � ��
�� "�-1#�������$$% ���"��2$� 2#� ���� ��� 0�+� �� �H�"� ���E�� B �� ��� -#�� ����0�
� � - ���$ �#" � �� ��- � �& � � �����- +����2$�� ��� "���������$$% ����1 ������
&��- ��� ���� �� C

!�� �H�-1$� B - ��� �11���" �� ���#- � � �� � � 1��� �11�����"�� ��� ����1 ��=
���� �& ��� ���� �� G � �� �� B �� �� ���#-�� � ��

PM(I|L)
&�"���� ���� � 1���#"� �&

&#�"����� ��" �& E �" ��1 ���� �� � � $� "����� �& �� - ��� ��� 1��� B

PM(I|L) = Z(I)
∏

vi∈V

PM(I|li),
x[C�y

E ���
Z(I)

�� � ���- � �� ���� ��� ��1 ��� �� � � $� "����� �& ��% 1��� C� @� � �
�� ��  ��� ����1�����"� ���#-1����� �2 �#� � � +����2$�� �� � � 1���� ������2#����

PM(L)
+��% "��������2$% �"���� ��u����� �11���" �� C : ��� ��u����"�� ��~�"�

��u����� �����=�u� � �� "�� 2 � - ��� �� ����� �� 2�$��"� "�-1#�������$ ���"��2�$��%
E �� �H1�����+����� �& � � -���$ C

å d_®c®«m«hg«­ ± dcb ë «­cm ` _kemh ¨� [© 1��+��� � &��- �E��F &�� ��1��������0 ���
��������0 �2�#� � ��� ����1 �����"� ���#-1����� C � 0��1 �"�$ - ���$ �� � 0��1 

�� ÒÎÑËÞ ÕÉ É�ÏÉÌÑÓÎÒ ÓÊ ÑÈÉ �ËÑÏÈÚÎÍû ÎÐ �ËÍÑÊ ÖÎÛÉÕ ÎÐ ÿ�� ÚÈÓÏÈ ÍÉÕË�ÉÊ ÑÈÓÊ ËÊÊØÖÌÑÓÎÒ
ÓÒ ÎÍÛÉÍ ÑÎ Þ ÉÑÑÉÍ ÈËÒÛÕÉ ÎÔÉÍÕËÌÌÓÒ× ÌËÍÑÊ à ôÉ ÛÓÊÏØÊÊ ÑÈÉ ��� ÖÎÛÉÕ ÓÒ ÖÎÍÉ ÛÉÑËÓÕ ÓÒ �ÉÏø
ÑÓÎÒ � à� à� à

{



 �+��0 � ���� &�� �+��% �����- +����2$� �� � � ��������"�$ - ���$ C �� ��0� "����"��
�E� �����

p
���

q
�& � � -���$ ���#-�� � �� � ��� �� �� �H1$�"�� ��1 �����"% 2 �=

�E��� � � �E� �����- +����2$�� C � 0��1 �"�$ - ���$ �� "�$$�� k«de­gek �� ¬fk«de­gek
��1 �����0 �� � � �%1 � �& ��� ��0�� G ����"��� ��0�� �- 1$% "�#��$��% 2 ��E��� +���=
�2$�� E �$� #�����"��� ��0�� ��$% �- 1$% "����$����� C 8� �#� �11$�"����� �� �2D �"�
��"�0������ E�  �+� �� �������� �� -���$��0 "�#��$ ��$������ �1� B �� � � 0��1 �"�$
-���$� "��������� �� � �� � ���� ��� #�����"��� C *�����"��� 0��1 �"�$ -���$� ���
�$�� "�$$�� ?��F�+ .����- !��$�� ¨[5© C

' �+�� � 1��2�2�$����" 0��1 �"�$ -���$ B ��� "�� �����- ��� � � ����1 �����"�
��$������ �1� �& � � �����- +����2$�� 2% �H�- ����0 � � ��0�� ��� 1�� � �� � �
0��1 C :E� �����- +����2$��

p
���

q
��� «fkeb efkefg �& � ��� �� �� 1�� �& ��0��

2 ��E��� � � �E� "�����1�����0 ����� �� � � 0��1 G � �� �� B � �% ��� ����1 ������
�&

p
���

q
��� #����" �2$� &��- ��� ���� �� C :E� +����2$�� ��� ­_fk«g«_fcm ma

«fkeb efkefg 0�+�� � � +�$#�� �& � ��� �& +����2$��
R

�& �$$ 1�� � �� � � 0��1 
2��E���

p
���

q
��+�$+� � ���� ��

R
C 8� �� �� E���� B �E� +����2$�� ��� "���������$$%

����1 ������ �& � �% ��� ���" �2$� �� � � ���0���$ 0��1 2#� #����" �2$� �& � � ���
�& �����

R
E��� �� 2 � ��- �+�� ¨� [© C

´ µ´µ ðñâ¹¿¹ñº¹ ! �ñê"¹Â #¹¿Ä�Ä · ¾»»¾Áä�ã

: � D #�"���� ���� �$0���� - ¨�[© 1��+���� � ��" ��/#� &�� �H�"� ��&����"� �� 1��2=
�2�$����" 0��1 �"�$ -���$� C : � �#����0 ��- � �& � � �$0���� - ��1���� �� � � ��t�
�& � � - �H�- �$ "$�/#�� �� � � 0��1 �"�$ - ���$ C$ 8� 1����"#$�� � � �$0���� - ��
$����� �� � � �#-2�� �& ����� 2#� �H1�������$ �� � � ��t� �& � � $��0��� - �H�- �$

%� 
&�'(� ÓÊ Ë ÊØÞÊÉÑ ÎÐ ÑÈÉ ÒÎÛÉÊ ÎÐ Ë ×ÍËÌÈ ÊØÏÈ ÑÈËÑ ÑÈÉÍÉ ÓÊ ËÒ ÉÛ×É Þ ÉÑÚÉÉÒ ËÕÕ ÌËÓÍÊ ÎÐ
ÒÎÛÉÊ à � )*+ �) *& 
&�'(� ÓÊ Ë ÏÕÓ�ØÉ ÐÎÍ ÚÈÓÏÈ ÓÑ ÓÊ ÒÎÑ ÌÎÊÊÓÞÕÉ ÑÎ ÏÍÉËÑÉ Ë ÕËÍ×ÉÍ ÏÕÓ�ØÉ ÞÜ ËÛÛÓÒ×
ËÒÎÑÈÉÍ ÒÎÛÉ à
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�� ��� �²� ³ .��#$� �& &���#�� ����"���� x��0 �y �� � ��-1$� �- �0� x$�&�y C

"$�/#� C : #� � ��� �� � �����=�u 2 ��E��� � � ��" ���� �& � � ��������"�$ - ���$ ���
� � "�-1#�������$ "�-1$�H ��% �& ��&����"� C . �" �� -���$�  �+� -��� ��0�� ���
$��0�� "$�/#�� 2#� ��&����"� 2 �"�-�� �H1�������$$%  ����� C

@�� E�% � �� 1��2$�-  �� 2 ��� ��������� �� � � "����H� �& �2D �"� ��"�0������
�� �� #�� ��" -���$� 2#� �� �11��H �- ��� ��&����"� �$0���� - ¨�4 B ��© C � "�--��
�11���" �� �� ,��� �#� � ç ecg¬de kege­g_d �� � � �- �0� �� ������&% ��$���� 1�����
�& �������� �#" �� "������ C : �� ��$% �2D �"� "��,0#������� � �� ��+�$+� � �� �- �$$
�#2��� �& �- �0� 1����� ��� "��������� �#���0 ��&����"� B � #� ���- ����#�$% ���#"��0
� � "�-1#�������$ "��� C : �� "�� 2 � � �#0 � �& �� � ®_gg_` æ¬b ��&����"� ������0%B
�� E �" 0��� $� "������ &�� � � ����+ ��#�$ �2D �"� 1���� ��� ����- ���� ����+ ��#�$$%
2% ,����0 $� "�$ - �H�- � �&

PM(I|li)
B ��� � �� ��-� �#2��� �& � ���  �0 =$�F�$� ���

1���� �� "�-2���� ��0�� �� �� 1���#"� �� �2D �"� $� "�$�t����� C : � �#�1#� �& �
&���#�� ����"��� �� � ��-1$� �- �0� �� � �E� �� !�0#�� [C| C

L  �$� �#" �� �11���" - �F�� ��&����"� �� ��" ��������"�$ -���$� ���"��2$� B
� �����+����0� �� � �� �� - �F��  ��� �����- ������ "$����,"����� ��"������ � �� "��

[[



$��� �� 1 ��� ��"�0������ ���#$�� C !�� �H�-1$� B "������� �� �- �0� �� E �" ���
1��� �& � � &�"� B �#" �� � � ��0 � �%� B �� � ""$#��� 2% ���� �� �2D �"� x�#" �� �
 ��y C : � &���#�� ����"��� - �0 � ��� ,�� ��%E ��� ���� � � ��0 � �%� 2 �"�#�� � �
$� "�$ �- �0� ���� � ��� �� ��"��������� E �� � � �H1�"��� �11�����"� �& �� �%� C : �
2����- =#1 ��&����"� �11���" �� $�F�$% �� &��$ �� � �� "��� C

� - �D �� ��u����"� 2 ��E��� � �� � ���� ��� -��� �� �� E��F �� �2D �"� ��"�0��=
���� �� � �� E� �� ��� �-1$�% 2����-=#1 ��&����"� �� &���#�� ����"���� C 8������
E� #�� � ¬f«° ek «fç edef ­e �11���" � �� 1���1 ����  ��� "$����,"����� ��"������
#���$ � � $��� ���0�� �& � � �$0���� - B �&��� �+ ����"� &��- � � ������ -���$  ��
2 ��� "�-2���� C 8������ �& #���0 &���#�� ����"���� B �#� �11���" ������� #��� &��=
�#�� _b edcg_dh � �� 0�+� � ���1���� &��

PM(I|li)
�� �+��% 1�H�$ �� � � �- �0� C : #�

E� 1��&��- e, c­g ��&����"� G �#���0 $� "�$�t����� E� ,�� � "��,0#������ � �� �"�#=
�$$% - �H�- �t�� � � 1 ��������

PM(L|I)
B ��� �#���0 "$����,"����� E� "�-1#�� � �

�H�"� +�$#� �&
P (I|w1)

C � 2���,� �& � �� �11���" �� � �� �� ���#��$$%  ���$��
�""$#���� C 8� � � �2�+� "��� �& �� �""$#��� �%� B &�� �H�-1$� B �#� -���$� E�#$� 2�
E �$$��0 ��  �$$#"����� � � �%� �� &���� �& � �  �� �& ����0 �� - �H�- �t�� � � 1��������
1��2�2�$��%C

9�E�+�� � �� �H�"� ��&����"� �� 1�������$$% -��� �H1����+� ��1 �����0 �� � �
�%1 � �& �2D �"� - ���$ � �� �� #��� C :� ������ �2�#� � �� �����=�u 2 ��E��� "�- =
1#�������$ "��� ��� ��1������������$ 1�E�� B �� � �� � ���� E� ������#"� � &�- �$% �&
-���$� "�$$��

k
=&��� � �� �H1$�"��$% 1���-�����t�� � � ��" ���� �& �1����$ ��&��- �=

���� C L� ,�� � �� 0������ �1����$ "��������� ���� ��"����� ����"���� 1 ��&��- ��"� B
2#� � �� �H�"� ��&����"� �� ��$���+�$% ��- 1$� �1����$ - ���$� 1 ��&��- � �� E�$$ ��
2 ����� � �� � � -��� "�-1$�H -���$� &�� E �" ��&����"� �� ��� ���"��2$� C
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'�+�� � � ����-�#� �#-2�� �& �2D �"� "$����� �� � � E��$� B �� �� +��% �11��$��0 ��
$���� �2D �"� - ���$� �#��- ���"�$$% E �� � - ���- �$ �- �#�� �&  #- �� ��+�$+�- ��� C
�� �#��- ���" $������0 �$0���� - �� 0�+�� � ��� �& ����� ��0 �- �0�� ��� ��-� �-�#��
�& 0��#�� ��#� ���� B E ��� � � /#�����% ��� �%1� �& 0��#�� ��#� ��1 ���� �� � �
��0��� �&  #-�� �#1 ��+����� � �� �� �+��$�2$� C 8� � �� � ���� E� 1������ ��+���$
$������0 �$0���� - � &�� �#� �2D �"� -���$� B ��" ��/#����0 � ��u����� ��0��� �&
 #-�� �#1��+ ����� C L� 1������ � &#$$%=�#1 ��+���� �$0���� - � �� ��/#����  ���=
$�2 �$�� 1��� $� "������ B � 1�����$$%=�#1 ��+���� �$0���� - � �� ��/#���� 2 �#����0
2�H�� ���#�� �2D �"�� B ��� � E��F$%=�#1 ��+���� �$0���� - � �� ��/#���� ��� ��0
�H"�1� &�� � 2 ��$��� +�$#� �� ��" �- �0� ����"����0 � � 1�����"� �� �2���"� �& � �
�2D �"� "$��� C : #� � � �11��1����� $������0 �$0���� - "�� 2 � ��$�"��� 2���� �� � �
����#�"�� ��� ��/#���- ���� �& � 0�+�� �11$�"����� C

8� ���- � �& � � ��������"�$ - ���$� &��- �E��F � �� E� 1�������� �2�+� B �� $����
�� �2D �"� -���$ E� E �� �� ,�� � ��� �& -���$ 1���-����� � �� - �H �- �t�� � �
1��2�2�$��% �& � � ����� ��0 ���� B

M∗ = arg max
M

T
∏

i=1

PM(Ii|w1),

E ���
{I1, . . . , IT}

��� �- �0�� � �� "������ � � �2D �"� �& �������� C � F�% ��u����"�
2 ��E��� �#� �11���" ��� �� ��� �� � � $������#�� �� � �� E� �� ��� #�� &���#��
����"���� �#���0 $������0 B ��� E� �� ��� ���#- � � �� � � 1��� �11�����"� -���$�
��� ,H�� c b d«_d«C 8������ B E� $���� � � 1��� �11 �����"� ��� �1����$ 1������� �&
� � -���$ h«`¬mgcf e_¬hmaC

L� � �E � �� � � "�-2������� �& �#� E��F$%=�#1 ��+���� $������0 �$0���� - ���
�H�"� ��&����"� �$0���� - � �#�1 ��&��- �� �� ��"��� 1���=2���� �1����$ -���$� B �#" 
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�� � � "�����$$����� -���$� �& ¨�4 B ��© C 8� &�"� B �#� E��F$%=�#1 ��+���� �$0���� -
0�+�� "���������$% 2 ����� -���$� � �� � � &#$$%=�#1 ��+ ���� $������0 �11���" C : #�
�#� E��F$%=�#1 ��+���� $������0 �$0���� - ��� ��$% ��/#���� $���  #-�� �u��� 2#�
�$�� 1���#"��  �0 ��=/#�$��% - ���$� .
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8� �� E�$$=F��E� � �� � �  #-�� +��#�$ �%���- ����0����� "����H�#�$ "#�� &��-
�� ������ h ­ef e ¨|© �� 1 ��&��- ��0  �0 =$�+�$ + ��#�$ ���F� C 8� �2D �"� ��"�0������ B
� ��� "#�� ��"$#�� "���������� �� � � ��t�� ��� ��$���+� $�%�#� �& �2D �"�� �� � �"��� C
@� �� "#�� ����� &��- 1 %��"�$ $�E � � �� - �F� ��- � �"���� -#" -��� $�F�$% � ��
�� ��� C : ��� "���������� ��u�� &��- �2D �"� �� �2D �"� C !�� ������"� � "�� �� �$-���
�$E�%� ������0 �� ��-�  ���t����$ �#11��� �#�&�"� B #�#�$$% � ���� B ��� �� �&���
�""�-1����� 2% 1���������� ��� �� �� +� �"$�� G �� ���1$��� B �� � � �� ��  ��� B ��
�&��� ���� �� � � �F% ���� "$�#�� 2#� �$- ��� ��+�� �11���� �� � � ����� �& � 2#�%
"��% �"��� C

���1��� ��� �- 1�����"� ��  #- �� +����� B - ��� �2D �"� ��"�0������ �$0���� - � &��
"�-1#���� �� ��� - �F� #�� �& �"���=$�+�$ "����H�#�$ ��&��- ����� B ������� -���$=
��0 ��$% � � �11 �����"� �& �� ����+ ��#�$ �2D �"� C 8� � �� � ���� E� � �E  �E ��
�H1$��� �"��� "����H� �� ����� �� �- 1��+� ��"�0������ ���#$�� B 2% 2#�$���0  �����=
" �"�$ -���$� �& �2D �"�� ��� �"���� C L� ����0���� �- �0� ��&��- ����� �� -#$��1$�
�"�$�� ���� � � ��-� ��������"�$ &��- �E��F � �� �� #��� &�� �2D �"� ��"�0������ C : ��
$��� #� 1 ��&��- #��,�� ��&����"� �� � � ������ "�-2���� �"��� ��� �2D �"� -���$
��-#$�����#�$% G � �� �� B E� ��$�% - �F��0 ��%  ��� "$����,"����� ��"������ #���$ �&=
��� �+����"� &��- 2�� �2D �"� �11�����"� ��� �"��� "����H�  �+� 2 ��� "�-2���� C
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: � "����H�#�$ - ���$� ��� $������ �#��-���"�$$% &��- �������0 ���� C
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'�+�� � � ��-1$�,"������ ��� -���$��0 ����� �� ����� �� "�-1#��� + ����� B �� ���=
"#����� �& � � �2D �"� "$��� ��"�0������ 1��2$�- �� "�-1$��� E �� �#� � � ���#0 
�H1���- ����$ �+�$#����� C !�� ��+���$ %���� � � �2D �"� "$��� ��"�0������ ������" 
"�--#���%  �� ��$��� �� �+�$#����� �������� "��������0 �& 1 ���� ��F�� 2% +�����
������" ��� B �#" �� )�$��" =| ¨�4© B )�$��" = [5 [ ¨46© B * 8*) ¨}5© B ?(. ¨[}© B ���
'��t ¨�6© C : ��� �������� 1��+���� � "��+������ 2 ��" -��F &�� ������0 �2D �"�
����"���� �$0���� - � �� "�--�� �������� ��� ��� 1��2�2$% �� � $��0� ��0��� ��=
�1����2 $� &�� � � �-1�����+� 1��0���� �� "���0��% ��"�0������ � ��  �� �""#����
�+�� � � $��� ,+� %���� C 9�E�+�� � ��� �������� E��� �$$ "�$$�"��� 2% "�-1#���
+����� ������" ��� ��� �#u�� &��- 2����� � �� - �F� � �- #���1���������+� ��-1$��
�& ���$=E��$� �- �0�� ¨z4© C

.�"���$% - ��� " �$$��0��0 �������� �& ­_fh¬` ed «` c± eh  �+� 2 �"�- � �+��$�2$�
�� 1��� �& � � ��()�7 < ��#�$ @2D �"� )$��� x<@)y ) �$$��0� "�-1�������� ¨4� B 4z© C
: � <@) ������� "������� �& ����$% [� B555 �- �0�� ��E�$����� &��- ��$��� 1 ���=
� ����0 ����� ��� �� � #� � $��0� B ���$����" ��-1$� �& #�"���������� "���#-�� �- �0�� C
@2D �"�� �� � � ������� �11��� E �� #�"���������� 1������� B �"�$� B + ��E1���� B �$$#- �=
������ B � ""$#���� B ��� ����������� C 8� �������� �� � � �- �0� ���� B � � "�-1�������
�#11$��� 0��#�� ��#� ���� ��� � "�--�� �H1���- ����$ 1����"�$ B �� � �� ���#$��
&��- ��u����� 1�1��� �� � �� ������� "�� 2� ����"�$% "�-1���� C

: � &�"#� �& -��� E��F �� � � �2D �"� "���0��% ��"�0������ $������#��  �� 2 ���
�� � � "$����,"����� ���F C � � �� �$$#�������� B � � 455z ��()�7 <@) " �$$��0�
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 �� 4� ������� �� � � "$����,"����� "�-1������� 2#� ��$% z ������� �� � � $� "�$�t�����
"�-1������� ¨4�© C : #� - ��� 1�1��� 1������ ���#$�� ��$% &�� � � "$����,"����� ���F
x� C0 C ¨[� B 4 [B [6 B �4 B �� B �6 B }� B 6z©y C L  �$� "$����,"����� �� �� �-1������ ���F B
$� "�$�t����� �� �$��  �0 $% �-1������ &�� - ��% �11$�"������ C 8� � �� � ���� E� 1������
� ���#0 �+�$#������ &�� 2�� � � "$����,"����� ��� $�"�$�t����� ���F� C

L� #�� � � <@) ���� &�� ������0 �#� �11���" �� "���0��% ��"�0������ 2 �"�#��
E� 2�$��+� �� �� 2 � � � $��0��� ��� -��� " �$$��0��0 �- �0� ��� � �� �� 1#2$�"$%
�+��$�2$� C L� 1������ ��"�0������ ���#$�� �� � ��t�� �2D �"� "���0����� ��� "�-1���
�#� ���#$�� E �� � � ���- � � �� ������� � � "�-1������� C : � ���#$�� � �E � ��
�#� �11���" #���0 E��F$%=�#1 ��+���� -���$� ���

k
=&�� �1����$ - ���$� �#�1 ��&��- �

�� �� ��"��� �11���" �� #���0 ��&��- �2$� 1���=2���� -���$� B ��� 0�+�� "�-1���2$�
���#$�� �� � � 2 ��� �2D �"� "���0��% ��"�0������ �$0���� - � 1#2$�� �� �� ���� C

´µ ¶�»Ãêñ¹ ¾â »�¹ »�¹ÄêÄ

: � ��- ������ �& � � � ���� �� ��0���t�� �� &�$$�E � C 8� ) �1��� 4 E� 1������ �
&�- �$% �& �1����$ -���$� "�$$��

k
=&��� ��� � �E  �E ��+���$ ��"��� �11���" ��
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P (x)
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C(x) = − log P (x),
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P (x|y)
�� B

C(x|y) = − log P (x|y).

.�E�����0 �/#����� x� C�y �� ���- � �& "���� B E�  �+�

CM(L|I) = CM(lR) − log Z(I) +
∑

vi∈R

CM(I|li) +
∑

vi∈R

− log α∗
i (lR),

E ���

− log α∗
i (lR) = min

li
CM(I|li) + CM(li|lR).
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CM(li|lR)
�� � ?� �$���2�� ������"� B

CM(li|lR) =
1

2
(li − µi|R)T Σ−1

i|R(li − µi|R) + Z1,

E ���
Z1

�� � "������� C L  �� E ������ �� � �� &��- �� �� "$��� � �� �/#����� x� Czy
"�� 2 � "�-1#��� #���0 � - ��="��+�$#���� C 8� 1����"#$�� B $��

Di(li)
2 � � � - ��=

"��+�$#���� �&
CM(I|li)

���
g(li)

B E ���

g(li) =
1

2
(li)

T Σ−1
i|R(li) + Z1.

: �� � � $�0���� - �&
α∗

i

"�� 2 � ����$% "�-1#��� �� B

− log α∗
i (lR) = Di(µi|R(lR)).
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Σi|R
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���� x� C�y B E �" �� � � ,��$ "��� &�� ��" "��,0#������ �& � � ��&����"� 1���� B

F (lR) = − log β∗(lR)

= CM(lR) +
∑

vi∈R

CM(I|li) +
∑

vi∈R

− log α∗
i (lR) − log Z(I),
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L�  �+� � �E� -�� �-���"�$$%  �E �� 1��&��- �H�"� ��&����"� E �� '�#�����
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=

&�� -���$� �K "����$% E �� �#� ��$% ��0 �� &���#�� ����"���� C 8� �#��� �#� � �� � �
��&����"� �$0���� - � ��� �$�� ���#���+� ��� �����0 �&��E��� �� �-1$�- ��� C 8� � ��
��"���� E� �$$#������  �E � � �K "���� $� "�$�t����� �$0���� - E��F� E �� � �#����0
�H�-1$� � �E ��0 ��" ���1 �& � � 1�� "��� C

! �0#�� � C[x�y � �E � � ���0��- �& � ��H=1��� [=&�� -���$ &�� � � I- ����2�F�J
�2D �"� "$��� C !�� + ��#�$�t����� 1#�1���� � � -���$� ��� ���E� �� &�$$�E � � � � 1����
��� 1��������� �� � ��� - ��� $�"������

µi|R

E �� ���1 �"� �� � � ��&����"� 1��� B E �" 
�� � � 2�"F E ��$ B ��� � � "���������$ "�+�����"�

Σi|R

�& ��" ���=��&����"� 1���
$� "����� �� ��1�������� �� �� �$$�1�� 1$����� �� �E� �������� ��+������� &��- � �
-��� C : � 1��� �11�����"� -���$� ��� ��-1$� ��0�=2���� ��-1$���� B E �" E �$$
2 � ���"��2 �� �� - ��� �����$ �� ) �1��� | C L� E �$$ ���"��2 �  �E � � $� "�$�t�����
1�� "��#�� E��F� #���0 � �� - ����2�F� -���$ �� � � ��-1$� ��1#� �- �0� � �E� ��
!�0#�� � C[x2 y C : ��� ��� � ��� ���1� �� � � 1��"��#�� B �� E� ��E ���"��2 � C
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W��� �³ R���¥ ���� ���������� ���������

: � ,��� ���1 �� 1 ��&��- ��0 $�"�$�t����� �� �� "�-1#��
C(I|li)

&�� ��" 1��� ��
��" 1����2 $� 1�H�$ $� "����� C : �� 1���#"�� � "��� - �1 &�� ��" 1��� B ����"����0
 �E E�$$ � � 1��� �11�����"� -���$ - ��" �� � � $� "�$ �- �0� ��&��- ����� �� ��" 
�- �0� $� "����� C @�� "�� +��#�$�t� � �� ���1 �� ��-1$��� "����$����� E �� � ��-1$���
&�� ��" 1��� x�$� �#0 � � �"�#�$ �1 ������� ��1 ���� �� � � �1 �"�," �11�����"�
-���$ #��� B �� E� ���"��2 � �� ) �1��� |y C

! �0#�� � C4 x�y � �E � � � "��� - �1� � �� E��� 0�������� 2% � � - ����2�F� -���$
�� � � ��-1$� ��1#� �- �0� B E �� $�E��="��� $� "������ ��1�������� 2% 2��0 ��� �����=
������ C :� 1��&��-

0
=&�� ��&����"� E� E�#$� ��- 1$% " ���� � �  �0 ���=$�F�$� ���

$�"����� &�� ��" 1��� 2���� �� � ��� - �1� �$��� C : � ����+ ��#�$ /#�$��% - �1� ���
/#��� ����% G &�� �H�-1$� B � � &���� ��� 2�"F E ��$ ��� +��% ��- �$�� �� �11�����"�
�� � ��� ��� 1 ��F� �� � � $� "����� �& � � &���� E ��$ �� � � 2�"F E ��$ "��� - �1 ���
+�"�=+���� C : �� �$$#������� �� ��+����0� �& #���0 � �1����$ -���$ ��� �#� #��,��
��&����"� &��- �E��F � E��F �+����"� &��- ��" 1��� �� "�-2���� ��0�� �� �� �����
�� 1���#"� 2 ����� �+���$$ $� "�$�t����� ��"������ C

W��� � ³ S������ � ������¦��������

: � ��H� ���1 ��F�� ���� �""�#�� � � �1����$ ��1 �����"��� �� � � - ���$ �� ��"����
2% � � '�#����� 1���� �� ��" ���=��&����"� 1��� E �� ���1 �"� �� � � ��&����"�
1���� C : �� �� ���� 2% "�-1#���0 � � - ��="��+�$#���� �& � � /#�$��% - �1 &�� ��" 
���=��&����"� 1��� B 1���#"��0 � ��E /#�$��% - �1
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B

Di(li) = min
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CM(I|li) +
(li − y)TΣ−1

i|R(li − y)

2
.

L� � �E  �E �� "�-1#�� � �� - ��="��+�$#���� �K "����$% �� �11����H � C
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: � ���#$� �& � �� ���1 �� � � �#����0 �H�-1$� �� � �E� �� !�0#�� � C4 x2 y C : �
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CM(lR)
�� "�������
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2� &�#�� 2% " �����0

l∗i
&�� ��" ����+ ��#�$ ���=��&����"� 1��� �� �� �� - ���- �t�
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"�-1#��� �K "����$%C

8� � �� ��"���� E� 1������ � $� "�$�t����� ��" ��/#� 2���� �� 2���" =���=2 �#��
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����" C � $� �#0 � � E����="��� �#����0 ��- � �� � � ��- � �� � �� �& � � �$0���� -
1�������� �� � � $��� ��"���� B �� 1��"��"� � � ��" ��/#� �� ��+���$ ������ �& - �0���#��
&����� &�� -��� - ���$� ��� �- �0�� C L� E �$$ ,��� 0�+� �� �+��+ ��E �& � � 2���" =
���=2�#��=2���� �$0���� - �� � � ��H� ��"���� C L� � �� 1��+� � �� � � �$0���� -
�$E�%� "��+��0�� �� � � �1��- �$ "��,0#������ �& ��% -���$ �� ��% �- �0� C L�
���"#�� �K "���� 2�#����0 &#�"����� �� (�"���� � C4 C� ��� �#�� �� �-1$�- ��������
���#�� �� (�"���� � C4 C� C

R �����¡���������� �� ����¡�

)������� � � $� "�$�t����� 1��2$�- �� �
p× q

1�H�$ �- �0� E �� �
k
=&�� -���$ C : �

�1�"� �& 1����2$� ��&����"� 1��� "��,0#������� ��
I = ([1, p] × [1, q])k

B E ��� �
0�+�� "��,0#������

lR
�& � � ��&����"� 1���� �� ��1�������� 2% � ���0$� 1���� ��

I
C : � 0��$ �& � � ����" �� �� ,��

l∗R
B � "��,0#������ � �� - �H �- �t��

F (lR)
��

�/#����� x� C}y C @�"�
l∗R

�� &�#�� B � � �1��- �$ "��,0#������ �& � � �� �� 1���� "��
2� &�#�� ��

O(nh)
��- � #���0 �/#����� x� C|y C

L� ��,�� � ­em m �� 2 � � �#2��� �& � � ����" �1�"�
I
C (#11��� � �� E�  �+� �

2�#����0 &#�"����
B(E)

� �� &�� ��% "�$$
E ⊆ I

�����,�� �E� "��������� B

­_fk«g«_f G«H I B(E) ≤ F (lR)
&�� �$$

lR ∈ E,

­_fk«g«_f G««H I B(E) = F (lR)
�&

E = lR.

: �� �� B
B(E)

�� � $�E�� 2 �#�� �� � � "��� �& ��% 1��� "��,0#������ E �� �� � �
"�$$

E
B E �� � � ���������$ 1��1 ���% � �� �&

E
�� � ���0$� 1���� B

B(E)
�� �H�"�$% � �

"��� �& � �� ��&����"� "��,0#������ C � "�-1#�������$$%=�K "���� 2 �#����0 &#�"����
� �� �����,�� � ��� 1��1 ������ �� 1�������� �� � � ��H� ��"���� C

L� ��E ���"��2 � �#� 2���" ��� 2�#�� 1�� "��#�� &�� �K "����
k
=&�� $� "�$�t�=
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���� C : � 1��"��#�� #��� � 1������% /#�#� � �� ������ "�$$� C L� 2�0�� 2% �����0

I
E �� 1������%

B(I)
�� � � �-1�% /#�#� C : �� B � � $�E���="��� "�$$

E
�� ��- �+��

&��- � � /#�#� ��� 1���������� ���� ��+���$ ����"�$% �- �$$�� "�$$�
E1...Eq

C ;�" �&
� ��� "�$$�

Ei

�� ����� �� � � /#�#� B �$��0 E �� � � "�����1�����0 1������%
B(Ei)

C
: �� 1�� "��� "�����#�� #���$ � � "�$$ ��-�+�� &��- � � /#�#� �� � ���0$� 1 ���� C
L� ��E 1��+� � �� � � �$0���� - �$E�%� ,��� �#" � 1���� B ��� � �� � � 1����
"�����1���� �� �� �1��- �$ ��&����"� 1��� "��,0#������ C

Z¡����� � ²� ²� J_d cfa «` c± e I cfk ` _kem M i gë e c®_ªe cm± _d«gë` cmKcah ­_fæ
ªed± eh g_ cf _b g«` cm deç edef ­e bcdg ­_f° ±¬dcg«_f n

S���� L� ,��� � �E � �� � � 1�� "��#�� �$E�%� ���- ������ C 8� ��" ��������� B
��� �� � "�$$ "�����1�����0 �� � ���0$� 1 ���� �� ��- �+�� &��- � � /#�#� B �� E �" 
"��� � � 1�� "��#�� "�-1$���� B �� � "�$$ �� ��1$�"�� E �� � ,���� �#-2�� �& ����"�$%
�- �$$�� "�$$� C : � �- �0�

I
�� ,���� B �� �+���#�$$% � ���0$� 1���� -#�� 2 � � �

 �0 ���=1������% ���- �� � � /#�#� C

L� ��E � �E � �� � � � � ��&����"� 1��� "��,0#������ ��- �+�� &��- � � /#�#�
2�&��� ���- ������� �� �1��- �$ C ������ � �� $��� 1 ���� ��- �+�� &��- � � /#�#� ��

lR
C : � 1������% /#�#� 0#�������� � �� &�� ��% "�$$

E ′
���$$ �� � � /#�#� B

B(lR) ≤

B(E ′)
C !#�� �� B �#� 2 �#����0 &#�"���� 0#�������� � �� &�� ��% 1����

l′R ∈ E ′
B

B(E ′) ≤ F (l′R)
B �� E�  �+� � ��

F (lR) ≤ F (l′R)
C A�E ���"� ��% "�$$ ��- �+�� &��-

� � /#�#� 2% � � �$0���� - �� �$E�%� ��1$�"�� 2% � ��� �& "�$$� E ��� #���� ��
� � ���0���$ "�$$ B � � #���� �& �$$ "�$$� ���$$ �� � � 1������% /#�#� �� � � ��� �& � �
�$0���� - ��

I − {lR}
C : #� � ��� �� �� $�E��="��� "��,0#������ ��

I
� ��

lR
B ���

lR
�� �1��- �$ C

: � �$0���� - D#�� ���"��2 �� ,��� � ���0$� - �H�-#-=$�F�$� ��� "��,0#������
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�& � � ��&����"� 1���� C !�� ��- � �11$�"������ �� �� #��&# $ �� ,�� -#$��1$�  �0 =
$�F�$� ��� "��,0#������� C : �� "�� 2 � �""�-1$�� �� #���0 � � �2 �+� 1��"��#�� 2%
"�����#��0 � � 2���" =���=2�#�� �$0���� - �&���

l∗R
 �� 2 ��� &�#�� C L  ���+��

� � "�$$ ��-�+�� &��- � � 1������% /#�#� �� � ���0$� 1 ���� B � � �$0���� - ��"���� ��
�� � � ��H� - ��� 1��2�2$� ��&����"� 1��� "��,0#������ C 8� ��- �+�� � � ��H� ����%
&��- � � 1������% /#�#� ��� "�����#�� � � ��"#���+� ���"��� C : �� 1��"��� "�� 2�
��1 ����� #���$ �� ��2�����% �#-2�� �& "��,0#�������  �� 2 ��� 1���#"�� C

R �������  ��������

9�+��0 ���"��2 �� � � 0�����$ �$0���� - E� ��E �#�� �� 1���#"��0 � 2�#����0
&#�"���� � �� �����,�� "��������� x�y ��� x��y &��- � � $��� ��"���� C : � �K "���"%
�& � � 2���" =���=2�#�� �1��- �t����� �$0���� - ��1 ���� "����"�$$% �� � � " ��"�
�& 2 �#����0 &#�"���� C 8& � � 2�#�� �� �� � $���� B � � �$0���� - -#�� "������� - ��%
�#2=�1��- �$ "�$$� C @� � � �� ��  ��� �& � � 2 �#����0 &#�"���� �� �$�E �� "�-1#�� B
� � �$0���� - - �0 � 2 � �� &����� � �� � 2�#��=&��"� ����" C 8� � �� ��"���� E�
���"��2 � � 2�#����0 &#�"���� � �� E�  �+� &�#�� �� ��0 � ���#0 �� E��F E�$$ ��
1��"��"� C

(#11��� � �� E�  �� � 2�#����0 &#�"����
Bi

�#" � �� &�� ��% "�$$
E
B

­_fk«g«_f G«««H I Bi(E) ≤ Di(µi|R(lR))
&�� �$$

lR ∈ E,
���

­_fk«g«_f G«ªH I Bi(E) = Di(µi|R(lR))
�&

E = lR.

: �� �� B
Bi(E)

2�#��� � � - ��="��+�$+�� $�F�$� ��� - �1 �& 1���
i
�+�� ��� 1 ����2 $�

- ��� $�"������ "�����1�����0 �� � � 1 ����2 $� ��&����"� "��,0#������� ��
E
C : ��

#���0 � � &�"� � �� � $�E�� 2�#�� �� � �#--����� �� � � �#- �& $�E�� 2 �#��� ��
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� � ����+ ��#�$ ���- � B � 2 �#�� �� � � "���
F (lR)

�� �/#����� x� C}y �� B

B(E) = min
lR∈E

CM(lR) +
∑

vi∈R

min
lR∈E

CM(I|li) +
∑

vi∈R

Bi(E) − log Z(I).
x� C{y

8� �� ���% �� +���&% � �� 2�� �& "��������� x�y ��� x��y &��- � � $��� ��"���� ��� - ��
2% � �� &#�"���� C

� $$ � �� ��- ���� �� � 2 �#��
Bi

�� � � - ��="��+�$+�� $�F�$� ��� -�1� � ��
�����,�� "��������� x���y ��� x�+ y �2�+� C � ��-1$� 2 �#�� �����&% ��0 � ��� "���������
�� B

Bi(E) = min
p∈ti(E)

Di(p),
x� C[5y

E ���
ti(E)

"�-1#��� � � ��� �& 1 ����2 $� - ��� $� "������ &�� 1���
i
0�+��

lR ∈ E
B

ti(E) = {µi|R(lR) | lR ∈ E}.
x� C[[y

8� �� #��&# $ �� + ��#�$�t�
ti(E)

0��- ����"�$$%C !��- � � &��- �&
µi|R(lR)

0�+�� ��
�/#����� x4 C|y B ��� �2���+�� � ��

ti(E)
�� �� �K �� �����&��- ����� �& � � ���

E

&�$$�E�� 2% � 1��D �"���� ���� � � �E�=��- �������$ �- �0� "��������� �1�"� C

N������������� ������

8� ����� &�� � � 2���" ��� 2�#�� 1�� "��#�� �� 2 � "�-1#�������$$% �K "���� B � �
2�#�� &#�"����

B
-#�� 2 � ���% �� "�-1#�� C !���#����$%B � � - ���- �t������ ��

�/#������ x� C{y ��� x� C[5y "�� 2 � "�-1#��� � ��� �& ��- � B �� � �� "�$"#$����0 � �
2�#�� �� � 0�+�� "�$$ ��+�$+�� ��$% �����0 ��0�� �� � &�E 1��="�-1#��� +�$#�� C
: � F�% �� �� 1 ��&��- � � "�$$ 1����������0 ���1 �� �#" � E�% � �� ��$% � &�E
��t�� �& "�$$� ��� #��� C : � - ���- �t������ "�� � �� 2 � 1��="�-1#��� &�� �$$ �&
� � 1 ����2 $� "�$$ ��t�� #���0 � ` «f ° mged �� ��- � $����� �� � � ��- ������� �& � �
�- �0� ¨�6© C
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�� ��� � ²� ³ 8$$#�������� �& "�$$ 1����������0 C : � "�$$� ���  %1 ��"#2 �� �& ��=
2�����% ��- �������$��%B 2#� &�� +��#�$�t����� 1#�1 ���� � ���=��- �������$ "#2��
��� � �E� C

!�� "��+�����"� E� 2 �0�� 2% 1�����0 � � ��1#� �- �0� �#� �� ��
m × m

1�H�$
�/#��� E ���

m
�� � 1�E�� �& �E� C : �� �$$�E � #� �� ������"� � � "�$$� �� 2 �

 %1 ��"#2 �� E �� ���� $��0� � � �� ��� �$�� 1�E��� �& �E� C �#���0 � � 2���" ���
2�#�� 1��"��#�� B ��" "�$$ �� 1���������� ����

(2k)2
 %1 ��"#2 �� B ��"  �+��0 ���=

 �$& � � ��0� $��0� �& � � ���0���$ B �� �$$#������� �� !�0#�� � C� C : � ����$ �#-2��
�& ��u����� "�$$ ��t�� #��� 2% � �� �11���" �� ��$%

O(logm)
C : � - ���- �t������

�� �/#����� x� C{y ��� � �� ��$% �+�� � �- �$$ ��� �& �/#���� E �� ��- ������� � ��
��� 1�E��� �& �E� C

L  ��
E

�� �  %1��"#2� B � � �K�� 1��D �"���� &#�"����
ti(E)

�� �/#����� x� C[[y
1���#"�� � �E�=��- �������$ 1�$%��1 � x2 �"�#�� �� ����� �2�+� B

ti
�� �� �K�� �����=

&��- &�$$�E�� 2% � 1��D �"���� ���� �E�=��- �������$ �1�"�y C : #� ��" - ���- �t�����
�� �/#����� x� C[5y �� �+�� ��� �& � ��� �&

O(log m)
1�$%��1 �� B ���"� � � ��t� ��� � �1�

�& � � 1��D �"��� 1�$%��1 � ��1 ���� ��$% �� � � ��t� �& � �  %1 ��"#2 �
E
C :� #�� �

- �� ,$��� �� "���% �#� � ��� - �H�- �t������ B �� �� "��+������ �&
ti(E)

1���#"�� �H ��=
�������� ��"���0$�� C L� �""�-1$�� � �� 2%  �+��0

ti(E)
"�-1#�� � ��"���0#$��

�#1 ����� �& � � ��#� ��� �& 1 ����2 $� - ��� $�"������ B �� � � �H1���� �& E��F����0 � �
2�#��

Bi(E)
C :� 0������� �#" � ��"���0$� E� "�-1#�� � � ����$ $� "�����

µi|R(lR)
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L M N O PO

�� ��� � ²� ³ '��- ����" �����1�������� �& � � &#�"����
ti
C @� � "�$$

E
B
ti(E)1��&��- � �� �K�� �����&��- ����� B � 1��D �"���� ���� 4=� �- �0� �1�"� B ��� � ��

"�-1#��� � �- �$$��� ��"$����0 ��"���0$� C

&�� ��" +����H �&
E

��� � �� ,�� � � �- �$$��� �H ��=�������� ��"���0$� ��"$����0
� ��� 1 ����� C ��% 1���� ��

ti(E)
�� 0#�������� �� �$�� 2 � �� � �� ��"���0$� B 2 �"�#��

� � �K�� 1��D �"���� �& � 1�$%��1 � �� � � "��+�H  #$$ �& � � 1��D �"���� �& ��� +����"�� B
��� �� ��"$����0 ��"���0$� �� � �#1����� �& � �� "��+�H  #$$ ¨{5© C : � 1�� "��� �&
"�-1#���0 � �� ��"$����0 ��"���0$� �� �$$#������� 0��-����"�$$% �� !�0#�� � C| C ?�H=
�- �t��0 �� - ���- �t��0 �+�� ��"���0#$�� �#2���� �& ������"�=�����&��- �� $�F�$� ���
-�1�  �� 2 ��� "�$$�� � � ®_, k«hgcf ­e gdcfhç _d` ¨zz© C

ï µï é¼ÁãÃêñ½ â¿¾Á »�¹ ã ¾Ä»¹¿ê¾¿

8� (�"���� � C4 E� � �E��  �E �� ,�� �� �H�"� - �H�-#- c b _hged«_d« "��,0#������
&�� �

k
=&�� -���$ �� � 0�+�� �- �0� C 9�E�+�� - ��% �11$�"������ ��� ����������

��  �+��0 -#$��1 $�  %1�� ���� &�� � � $� "����� �& � � �2D �"� � E �� -#$��1$�
������"�� �& � � ��- � �2D �"� "$��� �11 ��� �� �� �- �0� B &�� �H�-1$� C ;+�� ��
�- �0�� E ��� � ��� �� ��$% ��� �2D �"� B � �  �0 ���=$�F�$� ��� -���$ "��,0#������
-�% ��� "�����1��� �� � � �"�#�$ �2D �"� 2 �"�#�� �& - ���$��0 ����� C 8� � ��� "����
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�� �� #��&# $ �� ������+� -#$��1$�  �0 =$�F�$� ��� "��,0#������� �& � � - ���$ �������
�& ��$% � � - �H�-#-=$�F�$� ��� "��,0#������ C : � �11$�"����� "�� � �� #�� �
��1����� "�������� ����1 ������ &��- � � ��������"�$ - ���$ �� " ���� �-��0 � �
-#$��1 $�  %1�� ���� C 8� �#� ��������"�$ &��- �E��F B � ���#��$ E�% �& 0��������0
� ���  �0 =$�F�$� ��� "��,0#������� �� �� ��-1$� &��- � � 1 �������� B

PM(L|I)
C

L �� 
k
=&�� -���$� �� �� 1 ����2 $� �� ��-1$� &��- � � 1 �������� �K "����$%C :� ��
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1��1�� "����� �� " ���� �""�����0 �� � � �%1 � �& �- �0� &���#��� �& �������� G � �� - �F��
� � �11���" 0�����$ ���#0 ��  ���$� � 2���� ���0� �& ��u����� �- �0� &���#��� C 8�
�#� E��F E�  �+� #��� 1��1�� "������ �#��� &�� "�$�� B ��0� B ��� �#�&�"� �����������
&���#��� C : � 1���� ��� -���$�� �� �- �$$ ��0�� ��-1$���� B E �� ��" 1������� �� � �
��-1$���  �+��0 � 1��2�2�$��% ������2#���� �+�� � � ��� �& 1 ����2 $� 1�H�$ $�2 �$� C

?��� &��- �$$% $��
I
2� � � ���#$� �& �#����0 � � 1��1�� "����� �� � 0�+�� �- �0� C

L� ���#-� � ��
I
 �� ��� �& � �- �$$ ��� �& $�2 �$� �� ��" 1�H�$ B �#" � ��

I(p) ∈

E = {1, 2, ..., r}
&�� ��" 1�H�$ $� "�����

p ∈ I
C : � &���0��#�� �11�����"� -���$
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p∈I

b[I(p)].
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∏
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b[I(p)]
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∏
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∑
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∑
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: � �1��- �t����� 1�������� �� � � $��� ��"���� �� &��� &�� �1���� $�2 �$ - �1� �#" ��
��0� - �1� B 2#� �� 1��+ ���� $���$� 2 ���,� E �� � � &��/#��"% �& � � $�2 �$� �� ��#0 $%
#��&��- B �� E �� � � "�$�� �� �#�&�"� ����������� &���#��� ���"#���� �� (�"���� | C[C
!�� � ��� &���#��� �� �� &����� �� #�� � � !�#���� �����&��- =2���� �-1$�- ��������
1�������� �� � �� ��"���� C

L� "�� ��E ���� � � $�F�$� ��� &#�"���� �� ���- � �& "��+�$#����� C :� ��� � �� B
���� � �� �/#����� x| C|y "�� 2� ��E ������ �� � 1���#"� �+�� 1�H�$ $�2 �$� B

CM(I|li) = CM(I|w0) −
∑

p∈Ti

∑

e∈E

1e(I, l + p) log

(

fi(p)[e]

b[e]

)

,

E ���
1e(I, l)

�� �� ����"���� &#�"���� � �� �� ��� �&
I(l) = e

��� �� t��� �� ��E ��� C
: �� �� D #�� � �#- �& "���� "����$������ B

CM(I|li) = CM(I|w0) −
∑

e∈E

(

log
fi[e]

b[e]
? 1e(I)

)

(li),

��� "�� 2� ��=E ������ �� ���- � �& "��+�$#����� B

CM(I|li) = CM(I|w0) −

(

∑

e∈E

f̂i[e] ∗ 1e(I)

)

(li),
x| Czy

E ���

f̂i(p)[e] = log
fi(−p)[e]

b[e]
.

*���0 � � "��+�$#���� � ����- ¨�{© B �/#����� x| Czy "�� 2� ��E ������ �� ���- � �&
� � !�#���� �����&��- B

CM(I|li) = CM(I|w0) −
∑

e∈E

F−1
{

F{f̂i[e]} · F{1e(I)}
}

,
x| C}y

E ���
F

������� � � &��E��� !�#���� �����&��- B
F−1

������� � � ��+���� �����&��- B
���

·
�� � � �$�- ���E ��� "�-1$�H -#$��1 $�"����� �1������ C
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: #� "��+�$#���� 0�+�� � &����� - �� �� &�� "�-1#���0 � � 1��� $�F�$� ��� -�1� C
: � !�#���� �����&��- � �& � � 1��� ��-1$��� &#�"�����

f̂i

"�� 2 � 1��="�-1#��� 2 �=
"�#�� � �% �� ��� ��1 ��� ��

I
C : �� �#���0 ��"�0������ B � � !�#���� �����&��-

�& ��" �& � � 2����% ����"���� - �1�
1e(I)

�� "�-1#��� C *���0 � � !��� !�#����
:����&��- x!!: y �$0���� - ¨[[© � �� ��F�� ��- �

O(|E|h logh)
E ���

h
�� � � �#- =

2�� �& 1�H�$� �� � � �- �0� C : �� &�� ��" 1���
vi ∈ V

��� ��" ��0� $�2 �$
e ∈ E

B E�
"�-1#�� � � "�-1$�H -#$��1 $�"����� �& � � !�#���� �����&��- �& � � 2����% ����"�=
��� &#�"����

1e(I)
��� � �� �& � � 1��� ��-1$���

f̂i[e]
B ��� � �� ��F� � � ��+����

�����&��- �& ��" ���#$� C ! ���$$% �� �������� �+�� � � ��0� $�2 �$� �� 1 ��&��- �� &��
��" 1��� C : #� "�-1#���0 �$$ �& � � 1��� $�F�$� ��� -�1� &�� �� �- �0� ��/#����

|E|(2n+1)
�11$�"������ �& � � !!: ��� ��F�� ����$ ��%-1����" ��- �

O(|E|nh logh)
C

: �� �11���" �� �%1�"�$$% ��+���$ ��- �� &����� � �� � � ��7+�
O(|Ti|hn)

�-1$�- ��=
������ ���"��2 �� �� (�"���� | C[ 2 �"�#��

|Ti|
B � � �#-2�� �& 1�H�$� 1 �� 1��� ��-1$��� B

�� �%1�"�$$% $��0� x #������ �� � �#����� �& 1�H�$�y E �$� � � �#-2�� �& 1 ����2 $�
��0� $�2 �$� �� ��$���+�$% �- �$$ x&�E�� � �� � ��t��y C

� µ´µï / ¼ñÂÃêñ½ ¾#¹¿Ã¼ãã êñ½ ã¼»º�¹Ä

: � 1��2�2�$����" &��- �E��F 1�������� �� (�"���� [C[C4 ���#- �� � �� � � �- �0�
$�F�$� ��� &�"���� ���� � 1���#"� �+�� 1���� C : � $� "�$ �11�����"� �& � 1��� ��
� #� ���#- �� �� 2 � ����1 ������ &��- � �� �& ��% �� �� 1��� G �� 1����"#$�� � ��
�-1$��� � �� 1���� �& �� �2D �"� ��+�� �+��$�1 ��� ���� �� B E �" �� 0�����$$% ���
��#� C !�� "��,0#������� E �� �+��$�1 B �/#����� x[C�y �+��"�#��� ��- � 1�H�$� ���
� #� 0�+�� ��$% �� �11��H �- ����� �� � � ��#� $�F�$� ��� &#�"���� C 8� ¨4© � -���$
"�$$�� ���" E��F �& ����� x�@�y E�� ������#"�� �� ������� � �� 1��2$�- C : �%
1��1 ��� �+���0��0 � � 1��2�2�$����� �& �+��$�11��0 ��-1$���� �� ����� �� �$�- �����
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� � �+��="�#����0 C

L� "�� #�� � ��- �$�� �11���" �� ������� � � 1��" �+��$�1 1��2$�- E �� �#�
��-1$���=2���� -���$� C !�� � 0�+�� 1�H�$

p
��� �2D �"� "��,0#������

L
�& 1��" �� B

$��
q(L, p)

2� � � ��� �& �$$ 1��" �� � �� �+��$�1
p
B

q(L, p) = {vi | p ∈ (Ti ⊕ li)},

E ���
⊕

������� ? ��F�E �F� �������� B ��� $��
Q(L)

2� � � ��� �& 1�H�$� "�+���� 2%
�� $���� ��� 1��" B

Q(L) = {p | q(L, p) 6= ∅}.

A�E � � $�F�$� ��� &#�"���� �� �/#����� x| C4y "�� 2� ��E ������ �� ����� �� �+���0�
� � "�����2#����� �& �+��$�11��0 1��" �� �

P̂M(I|L) = PM(I|w0)
∏

p∈Q(L)

1

|q(L, p)|

∑

vi∈q(L,p)

hi(p, li),
x| C6y

E ���
| · |

������� ��� "������$��%C !�� "��,0#������� �� E �" �� 1��" �� �+��$�1 B
�/#����� x| C6y ��- 1$�,�� �� � � &�"����� $�F�$� ��� &#�"���� �& �/#����� x| C4y C

*�&���#����$% �� �K "���� ��&����"� �$0���� - &�� - �H�- �t��0
P̂M(L|I, M)

��
��� F��E� B ���"� � � &�"����t����� �� �/#����� x� C�y �� �� $��0�� 1����2 $� C ' �+�� �
1����"#$�� 1��� "��,0#������

L
B  �E�+�� B �� �� ���% �� "�-1#��

P̂M(L|I, M)
C : #�

E� #�� � "�-1��- ��� �11���" � �� #��� � � ��-1$�� $�F�$� ��� &#�"���� �� 0�������
1��- ����0 �2D �"� "��,0#������� B 2#� �"���� � ��� "��,0#������� #���0 � � -���
�""#���� �@� &��-�E��F C 8� �� �� E���� B E� ����� � � ��-1$�� 1��������

PM(L|I)

�� � 1��1 ���$ ������2#���� &�� � � ��#� 1 ��������
P̂M(L|I)

C L� � �� ���E ��-1$��
&��- � � 1��1 ���$ ������2#���� #���0 � � -�� �� ���"��2 �� �� (�"���� � C� ���
�+�$#��� � � ��#� 1�������� 1��2�2�$��% &�� ��" ��-1$�� "��,0#������ C : �  �0 ���=
$�F�$� ��� "��,0#������ 1��+ ���� �� �11��H �- ����� �� � � ?�� ����- ��� �& � � ��#�
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1�������� C 8� 1��"��"� E�  �+� &�#�� � �� � �� 1��"��� 1��+���� ��0��,"���$% 2 �����
����"���� ��� $�"�$�t����� ���#$�� � �� D #�� #���0 � � ��-1$� $�F�$� ��� &#�"���� C

� µè ðÁ¼½¹ ½¿¼Âê¹ñ»ä·¼Ä¹Â ã¼¿» Á¾Â¹ÃÄ

: � ��-1$���=2���� -���$� ���"��2 �� �� � � $��� ��"���� ��� ��- 1$� B &��� B ��� E��F
��$���+�$% E�$$ B 2#� � ��� ��� ��- � ���#������ �� E �" � ��� &���#�� �1 ������� �&���
&��$ C @�� 1��2$�- �� � �� � �% ��� �������+� �� &��$#��� 2% � � 1�H�$E ��� "$����,��
� � - ����� ��0� �� � $�E="������� ��0��� B &�� �H�-1$� C ���� �� 1��2$�- �� � ��
� � -���$� ��� +��% ��0�� B �$$�E ��0 &�� $���$� ��&��- ����� �� 1��� �11�����"� C : #�
� ��� -���$� E��F E�$$ &�� ��0�� �2D �"�� $�F� "��� ��� -����2�F�� B 2#� ��� #��#���2$�
&��  �0 $% ��&��- �2$� �2D �"�� $�F� 1 ��1$� ��� ���- �$� C

(�+���$ �$�������+� 1��� �11�����"� -���$� E��� �H1$���� � �� �$$�E &�� 0������
��&��- ����� ��� E��� $��� �������+� �� $� "�$ �- �0� "������� C L� &�#�� � � 9��=
��0��- � �& @������� '�������� x9@'y ���"��1��� ¨[{© �� 2 � � � - ��� �#""���&# $
�11���" C 9@' ���"��1���� "�1�#�� � � ������2#���� �& 0�������� �"���� �� �- �0�
��0��� B �00��0���� �� 2 �� �1����$ ��� ����������� ��- ������� C : #� � �% ���1���
�� ��0� &���#��� 2#� �1 ����� ����"�$% �� 0�������� ������� �& � � �#�1#� �& �  ���
"$����,�� $�F� �� ��0� ����"��� C : � /#����t����� �� �1����$ ��� ����������� ��- ��=
����� �$�� �$$�E � &�� � 0������ ��0��� �& $� "�$ 1��� ��&��- ����� C

8� ¨[{© � � 9@' ���"��1���� E��� �11$��� �� �2D �"� ��"�0������ #���0 � ��0��
��-1$��� - ���$ C � $� �#0 � � 9@' ���"��1��� �$$�E � &�� $� "�$ ��&��- ����� B � �
#�� �& � ���0$� ��0�� ��-1$��� - ���$ &�� � � ������ �2D �"� 1��+���� -��� 0$�2�$
��&��- ������ C 8� � ����� � �� �� � � �11����� �& � � 1��2$�- E �� �#� 1��� ��-1$����
&��- � � $��� ��"���� G � ��� � � ��&��- �2$� �1����$ - ���$ �$$�E � &�� $��0� �2D �"�=
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$�+�$ ��&��- ������ 2#� � � 1���� � �- ��$+�� ��� ��� ��0�� C

L� "�-2��� � � ��+����0�� �& 2�� �11���" �� 2% � �E ��0  �E �� #�� 9@'
&���#��� �� �#� 1���=2���� ��������"�$ &��- �E��F B � #� �$$�E ��0 &�� 2 �� 1���=$�+�$
��� �2D �"�=$�+�$ ��&��- ������ C � ��- �$�� �11���"  �� ��"���$% 2 ��� 1��1����
�� ¨� [© C

� µè µ´ / êÄ»¾½¿¼Á Ä ¾â ¶¿ê¹ñ»¹Â = ¿¼Âê¹ñ»Ä

9@' ���"��1���� ��� "�-1#��� 2% ��+����0 �� �- �0� ���� �- �$$ ���=�+��$�11��0

­em mh �& �2�#�
8 × 8

1�H�$� C 8- �0� 0�������� ��� "�-1#��� B ��� � �� �  ����0��-
�& 0������� ����������� E��0 ��� 2% 0������� - �0���#�� �� 2#�$� &�� ��" "�$$ C : �
 ����0��- � ��� ���- �$�t�� E �� �� ®m_­íh �& �11��H �- ���$%

2×2
"�$$� C ?��� &��- �$$%B

&�� ��" 1�H�$
p
�� �� �- �0� B $��

Gx(p)
���

Gy(p)
2 � ����- ���� �& � � �- �0� 0�������

�� � �
x

���
y
����"����� �� 1�H�$

p
Bì

Gx(p) =
1

2
(I(px + 1, py) − I(px − 1, py)) ,

Gy(p) =
1

2
(I(px, py + 1) − I(px, py − 1)) .

: �� � � 0������� - �0���#�� ��
p
�� 0�+�� 2%B

M(p) =
√

Gx(p)2 + Gy(p)2,

��� � � 0������� ����"���� �� B

θ(p) = Q

(

arctan
Gx(p)

Gy(p)

)

,

ó�ÑÈÉÍ Ö ÉÑÈÎÛÊ É� ÓÊÑ ÐÎÍ ÉÊÑÓÖ ËÑÓÒ× ÕÎ ÏËÕ ÓÖ Ë×É ×ÍËÛÓÉÒÑ ÿ��� à ôÉ ØÊÉ ÑÈÉ Ö ÉÑÈÎÛ ÌÍÉÊÉÒÑÉÛ
ÈÉÍÉ Þ ÉÏËØÊÉ ÓÑ ÚËÊ ÐÎØÒÛ ÑÎ ÚÎÍû ÑÈÉ Þ ÉÊÑ ÐÎÍ ÎÞß ÉÏÑ ÍÉÏÎ×Ò ÓÑÓÎÒ ÓÒ ÿ��� à

�{



E ���
Q

�� � /#����t����� &#�"���� � �� - �1� ��0$�� ���� � �- �$$ ���
O

�& �����=
������� C �  ����0��- �� "�-1#��� &�� ��" "�$$

Ei

B

H(Ei)[d] =
∑

p∈Ei

M(p)δ(θ(p) − d),

&�� �$$
d ∈ O

B E ���
δ(n)

�� �� ����"���� &#�"���� � �� �� [ �&
n = 0

��� 5 �� ��E ��� C
: ���  ����0��- � ��� ���- �$�t�� �� � 1 ��=2$� "F 2���� C (#11��� � ��

Ei

2 �$��0� ��
� 2$�"F

Bj

C : �� � � ���- �$�t��  ����0��- �&
Ei

��$���+� ��
Bj

�� B

Ĥ(Ei, Bj)[d] = N(Bj)H(Ei)[d],

E ���
N(Bj)

�� � ���- �$�t����� &#�"���� C @& � � ��+���$ ���- �$�t����� �" �-��
��#���� �� ¨[{© B ���- �$�t��0 2���� ��

L2

������"� E�� &�#�� �� 2� � � 2 ��� B

N(Bj) =





∑

Ek∈Bj

∑

e∈O

H(Ek)[e]
2 + ε2





− 1

2

,

E ���
ε
�� � �- �$$ "������� C
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�$�� ��0 E ����E "$����,�� E �" �H �#���+�$% "$����,�� �#2��0���� �� - ��% ��u�����
�"�$�� ��� �u���� C
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8� "������� B E� #�� 9@' ���"��1���� �� " ���"����t� � � �11�����"� �& $� "�$
�- �0� 1��" �� &�� #�� �� �#� 1���=2���� �2D �"� -���$� C !�� ��-1$�"��% E� ���#-�
� �� � � 1��" ��t� �� � � ��- � �� � � 9@' 2$�"F ��t� B �$� �#0 � �� "�#$� 2 �
0�����$�t�� C !�� � 0�+�� �- �0�

I
��� 1�H�$ $� "�����

l
B E� ��,�� � +�"��� "��������0

�& � � ���- �$�t�� 9@'  ����0��- � �� � � 2$�"F "������� ��
l
B

v(I, l) =
(

Ĥ(E1, Bl), Ĥ(E2, Bl), ..., Ĥ(Em, Bl)
)

,
x| C{y

E ���
E1, E2, ...Em

��� � � "�$$� 2 �$��0��0 ��
Bl

C ;�" +�"���
v(I, l)

"������� �&

m
 ����0��- � ��"  �+��0

|O|
2��� B �� � � ����$ � �- �������$��% �& � � +�"��� ��

m|O|
C * ���0 �%��- �" 1��0��-- ��0 B

v(I, l)
"�� 2 � �K "����$% "�-1#��� &�� �$$

1 �H �$ $� "������ �� �� �- �0� �� ��- � 1��1�������$ ��
h|O|

B E ���
h

�� � � �#-2��
�& 1�H�$� �� � � �- �0� C 8� 1����"#$�� B ���� � �� � � �#����0 ��- � �� ����1 ������ �&
� � "�$$ ��t� C

L� #�� �E� ��u����� �11���" �� &�� -���$��0 1��� �11�����"� #���0 9@'
&���#��� C : � ,��� �11���" #��� � '�#����� ������2#���� B

PM(I|li) = N (v(I, li)|µi, Σi) .
x| C[5y

: �� - ���$ �� #��� �������$$% �#���0 � � $������0 1��"��� B �� E� ���"��2 � �� ) �1=
��� � C !�� 1 ��&��- ��0 ��"�0������ E� #�� �� (<? B �����1�����0 � � ������"� �& �
0�+�� 9@' &���#�� +�"��� &��- � � (<? s� ��1������0  %1 ��1$��� �� � $�0=$�F�$� ���
����� C : �� �� B �#���0 ��"�0������ E� #�� B

PM(I|li) ∝ exp(wi · v(I, li) − bi),

E ���
wi

���
bi

��� 1���- ����� $������ �#���0 � � (<? �������0 1��"��� C
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L�  �+� �� &�� ���"��2 �� � &�- �$% �& 0��1 �"�$ -���$� &�� �2D �"� ��"�0������
��� � �E�  �E �� 1 ��&��- ��&����"� �K "����$% #���0 � ��� -���$� C : �� " �1���
�#��� �� � � 1��2$�- �& " �����0 � � -���$ 1���-����� &�� � 0�+�� �2D �"� "���0��%C
: �� ��+�$+�� ��$�"���0 � ��� �& ��$���� �2D �"� 1���� B 2#�$���0 �� �11�����"� -���$
&�� ��" 1��� B ��� 2#�$� ��0 � �1����$ -���$ � �� ��$���� � � 0��-����" "��,0#������
�& � � 1���� C

8� 1���"�1�$ �  #- �� �H1 ��� "�� ��+�$�1 �� �2D �"� -���$ ����"�$%B #���0  �� ��
 �� ���#����� �2�#� E �� � � �2D �"� $��F� $�F� C 9�E�+�� ������0 � � -���$ 1���- =
����� 2%  ��� �� �����#� ��� ��- �="���#- ��0 C ?����+�� B ������"  �� ��1 �����$%
&�#�� � ��  ���=�#��� �2D �"� - ���$� 1 ��&��- 1���$% "�-1���� �� -���$� 1���#"��
2% � $������0 �$0���� - ¨44 B z| B }4 B 6}© C 8� � �� " �1��� E� ���"#�� �$0���� - � &��
$������0 � � �2D �"� - ���$� �#��- ���"�$$% &��- $�2�$�� ����� ��0 �- �0�� C

� $$ $������0 �$0���� - � ��/#��� ����� ��0 �H�-1$��� B E �" �� � � "��� �& �2D �"�
��"�0������ ��� �- �0�� � �� "������ � � �2D �"� �& �������� C �11���" �� ��u�� ��
� � �-�#�� �& ��&��- ����� � �� � �% ��/#��� �2�#� � ��� �H�-1$��� B 2#� -���
�11���" �� "�� 2 � "���0���t�� ���� ��� �& &�#� �#1��+����� 1�����0- � �Å

•
J¬m maæh¬b edª«h ek $������0 �$0���� - � ¨[| B �5© ���#-� � �� � � "����"� $� "�����
�& ��" �2D �"� bcdg �� 0�+�� �� 0��#�� ��#� &�� �+��% ����� ��0 �- �0� C

•
åcdg«cm maæh¬b edª«h ek $������0 ¨[{ B � [© ���#-�� � �� � � ����� ��0 �- �0� ���� ��
��������� E �� 2 �#����0 2�H�� ��"$����0 ��" ������"� �& � � �2D �"� C 9�E=

Æ<ÎÑÉ ÑÈËÑ ÑÈÉ Ö ÉËÒÓÒ× ÎÐ ÑÈÉÊÉ ÑÉÍÖ Ê ÓÊ ÒÎÑ ÊÑËÒÛËÍÛÓüÉÛ ÓÒ ÑÈÉ ÎÞß ÉÏÑ ÍÉÏÎ×ÒÓÑÓÎÒ ÕÓÑÉÍËÑØÍÉ à�ÎÍ É�ËÖÌÕÉ Ù ÚÈËÑ ÚÉ ÏËÕÕ ÚÉËûÕÜøÊØÌ ÉÍÔÓÊÉÛ ÓÊ ÍÉÐÉÍÍÉÛ ÑÎ ËÊ õØÒÊØÌÉÍÔÓÊÉÛö ÞÜ ÿT�� ÷ ÚÈËÑ ÚÉÏËÕÕ ÌËÍÑÓËÕÕÜøÊØÌ ÉÍÔÓÊÉÛ ÓÊ ÏËÕÕÉÛ õ ÊØÌÉÍÔÓÊÉÛö ÓÒ ÿ�� à
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�+�� � � ����+ ��#�$ 1��� $� "������ ��� ��� F��E� C

• Uecí maæh¬b edª«h ek $������0 �$0���� - � ¨4 B �4 B �� B �{ B 6z© �H1 �"� �� ����������
&�� ��" ����� ��0 �- �0� ����"����0 E �� �� �� ��� � � �2D �"� �11���� �� �� C
A� ��&��- ����� �� � � 1������� �& � � �2D �"� E �� �� � � �- �0� �� ���#- �� C

• Vfh¬b edª«h ek ��" ��/#�� ¨z} B }z© ��� 0�+�� ��$% � ��� �& ����� ��0 �- �0�� E �� 
�� �� �� 0��#�� ��#� ���� C : ��� �$0���� - � ����-1� �� 2 �� ���"�+�� � �
�2D �"� "$����� �� � � ����� ��0 �- �0��% ��� $���� -���$� &�� ��" ��� C

7��� �#1 ��+���� $������0 -�� ��� ��/#��� $���  #-�� �u��� �#���0 ����� ��0 B
2#� 0�����$$% ��� -��� "�-1$�H ��� ��/#��� -��� "�-1#�������$ ����#�"�� C 8�
1��"��"� B  #-�� ��- � �� #�#�$$% "��������� -��� +�$#�2$� � �� "�-1#��� ��- �
���  ��"� E��F�� �#1 ��+����� �� 1��&����� C 9�E�+�� $������0 -���$� �� � &#$$%
#��#1��+���� &�� ��� �� � +��% " �$$��0��0 1��2$�- E �� �����=�&=� �=��� �11���" ��
0�+ ��0 ��$���+�$% 1��� ���#$�� B E �" -�F�� #��#1��+���� $������0 �-1��"��"�$ &��
��E C : #� E� "������� � � ,��� � ��� 1�����0- � 2#� �� ��� "������� #��#1 ��+����
$������0 &#�� �� �� � �� � ���� C

L� &��- � $������0 � � �2D �"� - ���$� �� � - �H �-#-=$�F�$� ��� ����- ����� 1��2=
$�- C ' �+�� � ��� �& 1�����+� ����� ��0 �- �0��

D = {I1, . . . , IT}
B E� ���F � -���$

� �� - �H �- �t�� � � $�F�$� ��� �& � � ����� ��0 ���� Bì

M∗ = arg max
M

P (D|M),
x� C[y

;H�"�$%  �E � � -�H�- �t����� �� �/#����� x� C[y �� 1 ��&��- �� ��1 ���� �� � � ��=
0��� �& �#1 ��+����� � �� �� �+��$�2$� C : � ��- ������ �& � �� " �1��� ���"��2 ��
�$0���� - � &�� $������0 �2D �"� - ���$� #���� � � E��F$%= B 1�����$$%= B ��� &#$$%=
�#1 ��+���� 1�����0- � C ! ���� E� � �E  �E �� "���% �#� � � - �H�- �t����� �� � �

ó úÒ ÌÍÉÔÓÎØÊ ÏÈËÌÑÉÍÊ ÚÉ ÈËÔÉ ØÊÉÛ ÑÈÉ ÒÎÑËÑÓÎÒ
PM (·)

ÑÎ ÉÖÌÈËÊÓüÉ ÑÈËÑ ÑÈÉ ÖÎÛÉÕ
M

ÚËÊ
Ë ÏÎÒÊÑËÒÑ ÛØÍÓÒ× ÓÒÐÉÍÉÒÏÉ à úÒ ÑÈÓÊ ÏÈËÌÑÉÍ ÚÉ ÑÍÉËÑ

M
ËÊ Ë ÍËÒÛÎÖ ÔËÍÓËÞ ÕÉ ËÒÛ ÑÈØÊ ÊÚ ÓÑÏÈ ÑÎ

ÑÈÉ ËÕÑÉÍÒËÑÓÔÉ ÒÎÑËÑÓÎÒ
P (·|M)

à

z�



E��F$%=�#1 ��+ ���� ������0 B E ��� ��$% 1 ��=�- �0� "$��� - �-2��� �1 $�2 �$� ��� �+��$=
�2$� C : �� E� � �E � �� � � 1�����$$%=�#1 ��+���� ��� &#$$%=�#1 ��+ ���� $������0
1��2$�- � "�� 2 � +��E�� �� �1 �"��$ "���� �& �#� E��F$%=�#1 ��+ ���� �11���" C L� ���=
"#�� � � 1�����$$%=�#1 ��+���� ��� &#$$%=�#1 ��+���� 1��2$�- � �� (�"����� � C4 ��� � C� B
���1 �"��+�$%C

 µ´ W¹¼5 ÃÀäÄ�ã ¹¿# êÄ¹Â Ã¹¼¿ñêñ½

8� E��F$%=�#1 ��+���� $������0 B ��" ����� ��0 �- �0�  �� � 2����% ���������� ��=
��"����0 E �� �� � � �2D �"� �& �������� �11 ���� �� � � �- �0� C : � $�2 �$ "�� 2�
� �#0 � �& �� 1����������0 � � �������0 �- �0��% ���� � ��� �& 1�����+� �- �0�� � ��
"������ � � �2D �"� ��� � ��� �& ��0���+� �- �0�� � �� �� ��� C A� ��&��- ����� �2�#�
� � $� "����� �& � � �2D �"� E �� �� � � �- �0�� �� �+��$�2$� C

;+�$#����0
P (D|M)

&�� � 1����"#$�� -���$ ��� ��� �&
T

����� ��0 �- �0�� ��+�$+��
�#-- ��0 �+�� � � �1�"� �& �$$ 1 ����2 $� -���$ "��,0#������� �� � �� ������� B

P (D|M) =
∑

L∈IT

P (D, L|M).
x� C4y

E ���
I

�� � � ��� �& 1 ����2 $� �2D �"� "��,0#������� &�� � � -���$ �� �� ����+ ��#�$
�- �0� C !�� �H�-1$� B �& E� "������� ��$% �����$����� ��� ���#-� � �� ��" ����� ��0
�- �0� ��

p × q
B � ��

I = ([1, p] × [1, q])n ,
E ���

n
�� � � �#-2�� �& 1���� �� � �

-���$ C

8� �� ��� ���"��2$� �� 1 ��&��- � � �#- ��� -�H�- �t����� �H1$�"��$% �� � � �1�"�
�& 1����2 $� "��,0#������� ��  #0� C ��% 0�+�� +�$#� �&

L
��"���� � �1 �"�," "��,0=

#������ �& ��" 1��� �& � � -���$ �� ��" �������0 �- �0� C ? �H�-#- $�F�$� ���
����- ����� 1��2$�- � � �� ��+�$+� $����� �� I�#����"�J �����- +����2$�� $�F�

L
"��

z|



2� ��$+�� �11��H �- ���$% #���0 �� �H1 �"������ -�H�- �t����� x;? y �$0���� - ¨45© C
;? �� �� �������+�  �$$="$�-2��0 �1��- �t����� �$0���� - � �� �� 0#�������� �� "��=
+��0� �� � $� "�$ - �H �-#- C ;�" ��������� "������� �& �E� ���1� C 8� � � ,��� ���1 B � �
1�������� ������2#���� �& � � $����� +����2$� �� "�-1#��� #���0 �� ����- ���� -���$

M t
C 8� � � ��"��� ���1 B � � �H1�"������ �& � � $�F�$� ��� &#�"���� �� - �H�- �t��

E �� ���1 �"� �� � � -���$ 1���-����� B �� 1���#"� �� �-1��+�� -���$
M t+1

C

8� �#� "����H� B � � 0�����$ &��- �& � � ;? #1���� �/#����� �� ¨45© "�� 2�
E ������ B

M t+1 = arg max
M

EL

[

log P (D, L|M t)|D
] x� C�y

E ���
EL [X|Y ]

������� � � �H1�"������ �& �����- +����2$�
X

"���������� ��
� � +�$#� �& ���� �� �����- +����2$�

Y
C � ��#- ��0 � �� � � ����� ��0 �- �0�� ���

����1 ������ B
P (D, L|M)

&�"���� ���� � 1���#"� �+�� �- �0�� B

P (D, L|M) =

T
∏

j=1

P (Ij, L|M),

�� � �� � � #1���� �/#����� 2�"�- �� B

M t+1 = arg max
M

EL

[

T
∑

j=1

log P (Ij, L|M)|Ij

]

.

: �� #���0 1��1 ������ �& �H1 �"������� E�  �+� B

M t+1 = arg max
M

T
∑

j=1

∑

Lj∈I

P (Lj|Ij , M
t) log P (Ij, Lj|M).

x� C|y

�
k
=&�� �2D �"� -���$

M
"������� �& �� �11�����"� - ���$

A
� �� ��"���� � � 1�=

��- ����� �& � � �- �0� $�F�$� ��� ��� � �1����$ -���$
S

� �� ��"���� � � 1���-�����
�& � � 1���� C : � $�0���� - �� �/#����� x� C|y &�"���� &#�� �� B

M t+1 = arg max
M

T
∑

j=1

∑

Lj∈I

P (Lj |Ij, M
t) log P (Ij|Lj , A)P (Lj|S).

z�



: �� - ���� � �� � � �11 �����"� - ���$ ��� �1����$ -���$� "�� 2� - �H�- �t��
����1 ������$%B

St+1 = arg max
S

T
∑

j=1

∑

Lj∈I

P (Lj|Ij , M
t) log P (Lj|S),

x� C�y

At+1 = arg max
A

T
∑

j=1

∑

Lj∈I

P (Lj|Ij , M
t) log P (Ij|Lj, A),

x� Czy

E ���
M t+1 = (At+1, St+1).

L� ���"��2 �  �E �� ,��
At+1

���
St+1

B �� �#�� B �� � � &�$$�E ��0 �E� ��"����� C

 µ´µ´ éã¼»ê¼Ã Á¾Â¹Ã �ãÂ¼»¹ ¹X�¼»ê¾ñÄ

!���� E� "�������  �E �� ,�� � � ;? #1���� �/#����� &�� � � �1����$ -���$ C .�"�$$
&��- �/#����� x4 C[y � �� �� � '�#�����

k
=&�� � � �1����$ 1���� &�"���� �� � 1���#"�

�+�� "$�/#�� B

P (L|S) = P (lR|S)
∏

vi∈R

P (li|lR, S),
x� C}y

E ���
R ⊆ V

�� � � ��� �& ��&����"� 1���� B
R̄ = V − R

�� � � ��� �& ���=��&����"�
1���� B ���

P (lR|S) = N (lR|µR, ΣR),
x� C6y

P (li|lR, S) = N (li|µi(lR), Σi|R)
&�� ��" 1���

vi.
x� C{y

: � "���������$ 1���-�����
µi|R

���
Σi|R

&�� 1���
vi

��� "�-1#��� 2% ����- ����0

µi,R

���
Σi,R

B � � - ��� ��� "�+�����"� &�� � � "$�/#�
R ∪ {vi}

C 8� 1����"#$�� B

µi,R

���
Σi,R

��� ������� �� 2$� "F - ����"�� �� ��,��
µi

B
µR

B
Σi

B
ΣiR

B ���
ΣR

#���0 �/#����� x4 C�y C : � "���������$ 1���-����� ������ &�� ��"�0������ ��� � ��
"�-1#��� #���0 �/#������ x4 C|y ��� x4 C�y C

zz



L� � #� $����
µi,R

���
Σi,R

&�� ��" - �H�- �$ "$�/#� �& � � 0��1 ����1 ������$%B
#���0 � � D ���� &��- �& � � 1���� �� �/#����� x4 C4y C !��- �/#����� x� C�y E�  �+� B

St+1
i = arg max

µi,R,Σi,R

T
∑

j=1

∑

lR∈Ij

∑

li∈Ij

P (li, lr|Ij , M
t) log P (li, lR|µi,R, Σi,R).

: � /#�����% 2 ���0 -�H�- �t��  ��� &#�� �� ��-1$�,�� �� B

T
∑

j=1

∑

lR∈Ij

∑

li∈Ij

−
1

2
P (li,R|Ij, M

t)
(

(li,R − µi,R)T Σ−1
i,R(li,R − µi,R) − log Z|Σi,R|

)

,

x� C[5y
E �� � "�������

Z
��$���� ��$% �� � � ��- �������$��% �& � � '�#������ C L� ��� � �

1�����$ ����+���+�� �& x� C[5y �/#�$ �� t��� ��� ��$+� &��
µt+1

i,R

���
Σt+1

i,R

C :�F��0 � �
1�����$ ����+���+� E �� ���1 �"� ��

µi,R

B

T
∑

j=1

∑

lR∈Ij

∑

li∈Ij

P (li, lR|Ij , M
t)(li,R − 2µi,R)Σ−1

i,R = 0

��� -#$��1 $% ��0 2�� ����� 2%
Σi,R

��� �������0��0 0�+�� B

µt+1
i,R =

∑T
j=1

∑

lR∈Ij

∑

li∈Ij
P (li, lR|Ij, M

t)(li,R)
∑T

j=1

∑

lR∈Ij

∑

li∈Ij
P (li, lR|Ij, M t)

x� C[[y

:�F��0 � � 1�����$ ����+���+� �& x� C[5y E �� ���1 �"� ��
Σi,R

��� ��-1$�&% ��0 B

T
∑

j=1

∑

lR∈Ij

∑

li∈Ij

1

2
P (li, lR|Ij, M

t)
(

Σ−1
i,R(li,R − µi,R)(li,R − µi,R)T Σ−1

i,R − Σ−1
i,R

)

,

E ��� E�  �+� #��� � � &�"�� � ��
Σi,R = ΣT

i,R

B ��� � � ���������� � ¨z [©

∂a
T
X

−1
b

∂X
= −X

−T
ab

T
X

−T ,

∂|X|

∂X
= |X|X−T .

(�����0 � �� �/#�$ �� t��� ��� ��$+ ��0 &��
Σi,R

0�+�� B

Σt+1
i,R =

∑T
j=1

∑

lR∈Ij

∑

li∈Ij
P (li, lr|Ij, M

t)(li,R − µi,R)(li,R − µi,R)T

∑T
j=1

∑

lR∈Ij

∑

li∈Ij
P (li, lR|Ij, M t)

,
x� C[4y

z}
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: � #1���� �/#������ &�� � [=&�� -���$ ��� 1����"#$��$% ��- 1$� C 8� � �� � ����
E� ��� ���������� �� �����$�����=��+������ -���$� B �� E �" 

P (LR|M)
�� � #��&��-

������2#���� �� � [=&�� C :� -�F� � � -���$� ���������+� �� �2��$#�� 1 ������� B E�
$���� � � '�#����� �1����$ 1���-����� ��$���+� �� � � ��&����"� 1��� $� "����� C : �
��- �������$��% �&

ΣR

�� � #� t��� B ��� &��- �/#������ x4 C�y B x4 C| y B ��� x4 C�y E�
 �+�

Σi = Σi,R = Σi|R

���
µi = µi|R

C : #� � � #1���� �/#������ &�� � [=&�� ��� �

µt+1
i =

∑T
j=1

∑

lr∈Ij

∑

li∈Ij
P (li, lr|Ij, M

t)(li − lr)
∑T

j=1

∑

lr∈Ij

∑

li∈Ij
P (li, lr|Ij, M t)

,
x� C[�y

Σt+1
i =

∑T

j=1

∑

lr∈Ij

∑

li∈Ij
P (li, lr|Ij, M

t)(li − lr − µi)(li − lr − µi)
T

∑T
j=1

∑

lr∈Ij

∑

li∈Ij
P (li, lr|Ij, M t)

.
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At+1

0�+�� ��
����- ���� -���$

At
C : � #1���� �/#������ ��1 ��� �� � � �%1 � �& �11�����"�

-���$ #��� C 8� � �� ��"���� E� ����+� � � �/#������ &�� � � �E� �%1�� �& -���$�
1��1 ���� �� ) �1��� | C

Z������� ������

L� ,��� "������� � � ��-1$���=2���� -���$� �& (�"���� | C[C .�"�$$ � �� � ���
�11�����"� - ���$� "������ �& � 2�"F0��#�� -���$ ��� � &���0��#�� ��-1$���

Ti

&�� ��" 1��� B

P (I|L, A) = P (I|w0, A)
∏

vi∈V

∏

p∈Ti

hi(p + li, li),
x� C[�y
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E ���

hi(p, li) =
fi(p − li)[I(p)]

b[I(p)]
,

���
fi(p)[u]

�� � � 1��2�2�$��% � �� � 0�+�� 1�H�$
p
�� � � ��-1$���

Ti

"�����1�����0
�� � �

i
=� 1���  �� ��0� $�2 �$

u
B ��� ��" 2�"F0��#�� 1�H�$  �� $�2 �$

u
E �� 

1��2�2�$��%
b[u]

C : � 2�"F0��#�� 1��2�2�$����� ��� ���+ ��$ �� ����- ��� &��- � �
��0���+� ����� ��0 �- �0�� B �� E� E �$$ ���#- � � ��

b
�� ,H�� ��� F��E� 2 �&��� ��� C

(#2����#���0 �/#����� x� C[�y ���� x� Czy 0�+�� B

At+1 = arg max
A

T
∑

j=1

∑

Lj∈I

P (Lj|Ij, M
t) log

(

P (Ij|w0)
∏

vi∈V

∏

p∈Ti

fi(p)[Ij(p + Lj,i)]

b[Ij(P + Lj,i)]

)

,

x� C[zy
E ���

Lj,i

������� � � $� "����� �& � �
i
=� 1��� �� "��,0#������

Lj

C

!��- �/#����� x� C[zy E� ��� � �� �� ����- ���
At+1

B �� �� �#K "���� �� - �H �- �t�

fi(p)[·]
����1 ������$% &�� ��" 1���

i
��� 1�H�$

p ∈ Tj

B

f t+1
i (p)[·] = arg max

fi(p)[·]

T
∑

j=1

∑

li∈Ij

P (li|Ij, M
t) log fi(p)[Ij(p + li)].

x� C[}y

E ���
P (li|Ij, M

t)
�� � � - ��0���$ 1��2�2�$��% � �� 1���

vi

�""#�� �� $� "�����
li

��
�- �0�

Ij

C .�"�$$ � �� �� �������� ��0� ����"���  �� ����0��� � $�2 �$ &��- � � ���

E
�� ��" 1�H�$ �� � � �- �0� C : � /#�����% �� - �H�- �t� �� �/#����� x� C[}y "�� 2�

��E ������ �� � �#- �+�� � � 1 ����2 $� ��0� $�2 �$� B

arg max
fi(p)[·]

T
∑

j=1

∑

li∈Ij

∑

e∈E

P (li|Ij, M
t)1e(Ij , p + li) log fi(p)[e],

�#2D �"� �� � � "��������� � � �#- �& � � 1��2�2�$����� �+�� ��0� $�2 �$� &�� � 0�+��
1�H�$ �� � � ��-1$��� -#�� �#- �� ��� B

∑

e∈E

fj(p)[e] = 1,

��� E ���
1e(I, p)

�� �� ����"���� &#�"���� � �� �� ��� �&
I(p) = e

��� �� 5 �� ��E ��� C
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L� #�� 7�0���0� -#$��1$���� �� 1 ��&��- � �� - �H�- �t����� &�� ��" 1���
vi

���
1�H�$

p ∈ Ti

C : � 7�0���0��� �� B

L(fi(p), λ) = λ

(

∑

e∈E

fi(p)[e] − 1

)

+

T
∑

j=1

∑

li∈Ij

∑

e∈E

P (li|Ij, M
t)1e(Ij, p+ li) log fi(p)[e]

:�F��0 1�����$ ����+���+�� E �� ���1 �"� ��
fi(p)[e]

&�� ��" ��0� $�2 �$
e
B E� �2���� �

�%���- �&
r+1

�/#������ &�� ��" 1�H�$
p
�� ��" 1���

vi

C ;�" �& � ��� "����������
 �� � � &��- B

∂L(fi(p), λ)

∂fi(p)[e]
= λfi(p)[e] +

T
∑

j=1

∑

li∈Ij

P (li|Ij , M
t)1e(Ij , p + li).

(�$+��0 � � �%���- �& �/#������ &��
fi(p)[e]

&��
e ∈ E

0�+�� � � ;? �11�����"�
-���$ #1���� �/#����� B

f t+1
i (p)[e] =

∑T

j=1

∑

li∈Ij
P (li|Ij, M

t)1e(Ij, p + li)
∑T

j=1

∑

li∈Ij

∑

e′∈E P (li|Ij , M t)1e′(Ij, p + li)
.

x� C[6y

8� �#--��%B ,����0
At+1

��+�$+�� "�-1#���0
f t+1

i (p)[e]
#���0 �/#����� x� C[6y

&�� ��" "�-2������� �& 1���
vi

B ��-1$��� 1�H�$
p ∈ Ti

B ��� ��0� $�2 �$
e ∈ E

C

P������������� ������

!�� � � 0�������=2���� -���$� �& (�"���� | C4 B E� ���� �� ����- ��� � �
µi

���
Σi

1���-����� �& �/#����� x| C[5y &�� ��" 1���
vi

C *���0 � ����+����� +��% ��- �$�� ��
� �� � �E� &�� '�#�����

k
=&��� �� (�"���� � C[C[B �� �� �����0 �&��E��� �� ,�� � �

&�$$�E ��0 #1���� �/#������ &�� � � 0�������=2���� �11�����"� -���$� �

µt+1
i =

∑T
j=1

∑

li∈Ij
P (li|Ij, M

t)v(I, li)
∑T

j=1

∑

li∈Ij
P (li|Ij , M t)

,
x� C[{y

Σt+1
i =

∑T

j=1

∑

li∈Ij
P (li|Ij , M

t)v(I, li)v(I, li)
T

∑T
j=1

∑

li∈Ij
P (v(I, li)|Ij, M t)

.
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M0
C @#� �11���" �� �� 0������� � $��0� ��� �& "�������� �11�����"�
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S0
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�� ������$ - ���$ &��- E��F$%=�#1 ��+���� ����� ��0 ���� C
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L� ,��� 0������� � $��0� ��� �& 1�������$ �11 �����"� -���$� 2���� �� � � ����� ��0
�- �0� ���� C L� �� � �� 2% �����- $% ��-1$��0 �- �0� 1��" �� &��- � � 1 �����+�
�������0 �- �0�� ��� 0��������0 � 1��� �1 ������ &�� ��" ��-1$� C : � E�% � �� ��
���� ��1���� �� � � �%1 � �& &���#�� �1 ������ 2 ���0 #��� C

!�� � � ��-1$���=2���� �11 �����"� - ���$� �& (�"���� | C[B E� #��&��- $% ��-1$�
1��" �� �& ��+���$ � �u����� ��t�� �� �����- &��- � � ��0� - �1� �& � � 1 �����+�
�������0 �- �0�� C : �� E� 0������� � ��-1$��� -���$

Ti

&��- ��" ��-1$�� 1��" C
L� �� � �� 2% ��$����0 � � 1��" �� 2 �� � � �1����$ ��� ����������� ��- ������� B ���
� �� ������0 � � ��-1$��� 1��2�2�$����� �� �������2$� +�$#�� 2���� �� � � ��$����
1��" C L� #�� � 1��2�2�$��% �& 5 C6� &�� � � �2���+�� ��0� ����������� ��� ������2#��
� � ���� �& � � 1��2�2�$��% - ��� #��&��- $% �-��0 � � �� �� ������������ C

!�� � � 0�������=2���� -���$� �& (�"���� | C4 B E� ��-1$� �- �0� $� "������ &��-
� � 1�����+� ����� ��0 �- �0�� ��� "�-1#�� � � "�����1�����0 9@' &���#�� +�"���� C
L� � �� 2#�$� � &���#�� �1 ������ &�� ��" +�"��� 2% ����- ����0 � � -��� ���
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9@' &���#�� +�"��� ��� ���

Σi = 0.1I
B E ���

I
�� � � �������% - ����H C

!�� � � �H1 ���- ���� ��1 ����� �� � �� 1�1 �� E� ��-1$�� �11��H �- ���$% [5 B555
������$ 1��" �� �� � ��� ��u����� �"�$�� C A��� � �� �#� �� � � ���#����"% �� � �
��-1$��0 �& � � �� ����$ 1��" �� B - ��% �& � � ���#$���0 &���#�� �1 ������� - �% 2�
/#��� ��- �$�� C 9�E�+�� E� �� ��� ����-1� �� "$#���� �� �$�- ����� �1 ������� �� � ��
���0� C

M���� ��  �� ������ � �����

: � 1��+��#� ���1 0�������� � +��% $��0� ��� �& "�������� 1��" �� C L� E��� ��
2#�$� �� ������$

k
=&�� -���$ x&�� � 0�+��

k
y 2% " �����0 � �- �$$ �#2��� �& � ���

"�������� 1��" �� �� �� �� - �H�- �t� � � $�F�$� ��� �� �/#����� x� C[y C )�-2����0
�/#������ x� C[y B x� C4y B ��� x� C4y B E�  �+�

M∗ = arg max
M

∏

Ij∈D

Z(Ij)
∑

lR

PM(lR)





∏

vi∈R

PM(Ij |li)
∏

vi∈R

∑

li

PM(Ij |li)PM(li|lR)



 ,

���#- ��0 �� 2 �&��� � �� � � 1���� �� ��� �+��$�1 C � ��#- ��0 � �� � � ��� �& ��&����"�
1��" ��

R
 �� �$����% 2 ��� " ���� B � � 2 ��� ���=��&����"� 1��� ���

R
��

arg max
R

∏

vi∈R

q(R ∪ {vi}),
x� C4 [y

E ���

q(G) =
∏

Ij∈D

∑

lG

P (lG|sG)
∏

vi∈G

P (Ij|li).
x� C44y
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"�������� 1��" �� B � � "$�/#�

/#�$��% �"���
q(G)
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k
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k
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n − k
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k
=&�� -���$� B ��� &�� �+��% 1 ����2 $� ��&����"� ��� C

L� � �� "�-1#�� � � $�F�$� ���
PM(D)

&�� ��" �& � � -���$� ��� " ���� � � ���
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� ��
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V S = (vS
1 , . . . , vS

m)
E �� 

1���E ��� �1����$ ��$������
ES ⊆ V S × V S

C 8� �������� �� � � �1����$ ��$������
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2��E��� 1���� �& �2D �"� 1��" �� ��� � ��� 2 ��E��� 1���� �& �"��� 1��" �� B � ���
��� �$�� �1����$ ��$������ 2 ��E��� 1���� � �� "������ �& ��� �"��� 1��" ��� ���
�2D �"� 1��" B E �" E� ������

EOS ⊆ V O × V S
C � -���$ � #� "������� �& � �

�2D �"� ��� �"��� 1��" �� B � � �1����$ ��$������ E �� �� � ��� ���� �& 1��" �� ��� � �
�1����$ ��$������ 2 ��E��� � � �E� ���� �& 1��" �� B

M = (V O, V S, EO, ES, EOS)
C

A�E � "��,0#������
L

�& � � -���$ �� � 1����"#$�� 1$�"�- ��� �& � � �2D �"� 1����
��� � � �"��� 1��" �� G � �� �� B

L = (lO1 , . . . , lOn , lS1 , . . . lSm)
E ��� ��" 

lSi
�1 �"�,��

� � $� "����� �& �"��� 1��" 
vS

i

���
lOi

� � $� "����� �& �2D �"� 1��" 
vO

i

C L  �$� �
"��,0#������

L
�1 �"�,�� $� "������ &�� ��" �"��� 1��" �� E�$$ �� ��" �2D �"� 1��" B

E� "������� ��$% � � $� "������ �& � � �2D �"� 1��" �� �� $� "�$�t��0 �� ������"� �&
�� �2D �"� �� �� �- �0� x� C� CB �� 1$�"��0 � 2�#����0 2�H ���#�� � � ������"�y C : �
�"��� 1��" �� ���+� �� "�������� � � "��,0#������ �& �2D �"� 1��" �� +�� � � �1����$
��$������ �& � � -���$ B 2#� ��� ��� � �- ��$+�� 1��� �& � � �2D �"� $� "����� C

� � 2 �&��� B E� ��� ���������� �� ,����0 "��,0#������� � �� - �H�- �t� � � 1 ����=
���� B

PM(L|I)
C � � E� ��E �� ) �1��� � B � � �#����0 ��- � &�� 1 ��&��- ��0 ��&����"�

�� � �1����$ - ���$ �� ��$���� �� � � - �H�- �$ "$�/#� ��t� �& � � #����$% ��0 0��1 �=
"�$ -���$ C : #� &�� "�-1#�������$ ������� E� ���F � "�-2���� �"��� ��� �2D �"�
-���$ � �� &��- � � ���� C L� �� � �� 2% #���0 � [=&�� -���$ &�� � � �"��� ���
[=&�� -���$ &�� � � �2D �"� B E ��� � � ���� 1��� �& � � �2D �"� �� ��� �& � � 1���� �&
� � �"��� - ���$ C ?��� &��- �$$%B � � #����$% ��0 0��1 �"�$ -���$

G = (V, E)
 ��

+����"��
V = V O ∪ V S

��� ��0��
E = EO ∪ ES ∪ EOS

B E ���
EO

���
ES

��" 
&��- � ���� �&  ��0 � [ ���

EOS

�� � ���0$� ��0� C : � ���#"�#�� �& � � "�-2����
0��1 �"�$ -���$ �� �$$#������� �� !�0#�� z C[C : �� � � ����1 �����"� ���#-1����
�� � � �- �0� $�F�$� ��� &��- �/#����� x[C�y �-1$��� � �� B

PM(L|I) = PM(LO)PM(LS)PM(LOS)PM(I|LO)PM(I|LS)
xz C[y
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c d e f g h i j k f l
m n o m p o m q o

m r o

m ns m p s m q s m ts

m u mv o rs
w g f x f i j k f l

�� ��� ¢ ²�³ '��1 �"�$ -���$ �& � � "�-2���� �"��� ��� �2D �"� -���$� C

E ���

PM(LO) =
∏

eij∈EO

PM(lOi , lOj )

PM(LS) =
∏

eij∈ES

PM(lSi , lSj )

PM(LOS) =
∏

eij∈EOS

PM(lOi , lSj )

PM(I|LO) = ZO(I)
∏

vi∈V O

PM(I|lOi )

PM(I|LS) = ZS(I)
∏

vi∈V S

PM(I|lSi ).

� 0�+�� �2D �"� "���0��% -�% "������ �& -��� � �� ��� -���$ �& � � &��- ��=
�"��2 �� �� � �� ��"���� C !�� ������"� B � ��� - �% 2� -���$� "�����1�����0 �� ��u��=
��� +��E1����� B �� ������"��+� �#2="���0����� �& �2D �"�� B �� �+�� �� ��u����� �"���
"����H�� C 8� � � �H1 ���- ���� ��1 ����� �� � �� � ���� B E� #��� ��� �"��� "����H�
-���$ 1 �� �2D �"� "���0��%B E �� ��� �2D �"� -���$ 1 �� + ��E1���� �� ��,��� 2% � �
$�2 �$� �� � � ����� ��0 ���� C
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��% �& � � �11 �����"� �1������� 1�������� �� ) �1��� | "�� �� 1���"�1$� 2 � #���
�� - ���$ � � �"���=$�+�$ 1��" �� B  �E�+�� &�� � � �H1 ���- ���� �� ) �1��� } E� #��
� � ���=1���- ����" ��-1$���=2���� �1������� #���0 ��+���$ � �u����� �%1 �� �& �- �0�
&���#��� C .�0���$��� �& � � &���#�� �%1 � B � � �"��� �11�����"� �1�������  �+� �
"������ �1����$ ����$#���� � �� � ��� �& � � �2D �"� 1���� C L� �� � �� 2 �"�#�� � �
0��$ &�� � � �"��� -���$� �� �� ��1������ 0�����$ " ���"�������"� �& � � �"��� ���
��� �����$� �& ����+ ��#�$ �2D �"�� C : #� �#� "�-2���� �"��� ��� �2D �"� - ���$� "��
2� +��E�� ��  �����" �"�$ � � � �"���=$�+�$ "�-1����� �& � � - ���$ "�1�#��� "�����
&���#��� �+�� 2���� 1������� �& � � �- �0� B E �$� � � �2D �"�=$�+�$ "�-1����� ����
� � ,��� �����$ C

L� #�� � ��� �%1 �� �& �- �0� &���#��� �� 1����"#$�� �

•
O������� �� �� ³ : ��� ��� � � ��- � �������� ��0� &���#�� �1 ������� ��=
�"��2 �� �� ) �1��� | C !�� �"���=$�+�$ 1��" �� � �� �%1 � �& �1 ������ ����� ��
"�1�#�� �����0 ��������% +��������� "�����1�����0 �� � �  ���t�� B ����� B $��0�
2#�$���0� B ��" C

•
U���� ³ )�$�� �� �� �-1������ &���#�� &�� ����2$�� ��0 �"��� "����H� C !��
�H�-1$�� B 2 �"%"$�� ��� �&��� �2���+�� �2�+� �� ���� �& 0���� x0����y �� 0��%
x1�+�-���y 2#� ����$% �11��� �2�+� �� ���� �& 2$#� x�F% �� E����y C : � "�$��
/#����t����� �$0���� - �� ¨��© �� �11$��� �� $�2 �$ ��" 1�H�$ E �� ��� �& ���
2���" "�$�� "$#����� B % ��$� ��0 ��� 1����2 $� $�2 �$� &�� ��" 1�H�$ C

•
W������ ����������� ³ : � �#�&�"� ����������� �& ��0���� ���#�� �� �2D �"�
�&��� 1��+���� #��&# $ "����H�#�$ "#�� C !�� �H�-1$� B - ��% �2D �"�� $�F� "���
��� 2�"%"$�� ��� #�#�$$% �2���+�� ������0 �� �  ���t����$ �#11��� �#�&�"�

64



�#" �� � ���� C L� #�� � � �#�&�"� ����������� "$����,"����� �$0���� - �� ¨| [©
�� "$����&% ��" �- �0� 1�H�$ �� ��� �& � ��� $�2 �$� � 0��#�� B �F%B �� +����"�$
�#�&�"� B % ��$� ��0 � ��� 1����2 $� $�2 �$� &�� ��" 1�H�$ C

b µï -¹¼¿ñêñ½ »�¹ º¾Á·êñ¹Â Á¾Â¹ÃÄ

!�� $������0 �"��� -���$� E� ���#-� � �� 2 �#����0 2�H�� ���#�� �2D �"�� ���
�+��$�2$� �� � � 0��#�� ��#� �& � � ����� ��0 �- �0��%C : �� ��- 1$�,�� $������0
2�"�#�� E� "�� #�� � � 1�����$$%=�#1 ��+ ���� ��" ��/#� �& ) �1��� � ��� $����
� � �2D �"� ��� �"��� - ���$� ��1�����$%C 8� $������0 � � �2D �"� - ���$

(V O, EO)
B

��$% � � ��0���� ������ �2D �"� 2�#����0 2�H�� x�� 0�+�� 2% � � 0��#�� ��#� y
��� "��������� 2% � � $������0 �$0���� - C 8� $������0 � � �"��� "����H� -���$

(V S, ES),
E �$� �- �0�� ��� 1�� "����� B 2#� � � �$0���� - �� "���������� �� 1���#"�

� -���$ � �� ��"$#��� � � 2 �#����0 2�H �& � � �2D �"� �� ��� �& ��� 1��" �� C ! ���$$%
� � -���$ &�� � � ��0� "����"���0 � � �2D �"� ��� �"��� -���$� B

EOS
B �� $������

2% ��-1$% ����- ����0 � '�#����� �� � � ��$���+� $� "����� �& � � �2D �"� - ���$ s�
��&����"� 1��� E �� �� � � �2D �"� 2 �#����0 2�H C

?��� �����=�&=� �=��� $������0 �$0���� - � x��"$#���0 � ��� 1�������� �� ) �1=
��� �y ���#- � � �� �$$ �& � � ����� ��0 �- �0�� � �E �� �2D �"� &��- � � ��- � +��E=
1���� � &�����$ + ��E � �& "��� B &�� �H�-1$� C 9�E�+�� &�� #�� �� #�"����������
"���#-�� �- �0�� B �� �2D �"� ��"�0������ �%���- -#�� 2 � �2$� �� ����"� �� �2D �"�
&��- -��% ��u����� +��E1����� C L� � #� $���� ��1�����

k
=&�� -���$� &�� ��" 

�& ��+���$ "�����"�$ + ��E1����� &�� ��" �2D �"� "$��� C 8� �� ���#- �� � �� "�����
+��E1���� $�2 �$� ��� 1��+���� �� � � 0��#�� ��#� &�� � � ����� ��0 ���� xE �" ��
� � "��� �� -��� 1#2$�"$% �+��$�2$� ��������y B �� � �� E� "�� ��+�F� � � 1�����$$%=
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�#1 ��+���� $������0 �$0���� - -#$��1 $� ��- �� �� $���� ��" +��E1����=�1 �"�," -���$
����1 ������$%C
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8� � �� " �1��� E� 0�+� �H1���- ����$ ���#$�� &�� � � -���$� ��� �$0���� - �
1��1 ���� �� � �� � ���� C L� 1������ ���#$�� �� -#$��1 $� �������� ��� &�� 2 �� 
� � $� "�$�t����� ��� "$����,"����� ���F� B #�$�F� -��� ��"��� 1�1��� E �" ��#�%
��$% "$����,"����� �� � ���0$� ������� x� C0 C ¨�4 B �� B �6©y C ) $����,"����� �� � #��&#$
���F &�� ��- � �11$�"������ � ����2$% "������=2���� �- �0� ������+�$ � 2#� - ��%
�11$�"������ �$�� ��/#��� ��- � ������ �& � � $� "����� �& � � �2D �"� �� � � �- �0� C !��
�H�-1$� B � +��#�$ "�$$����� �+�����"� �%���- �����$$�� �� �� �#��-�2�$� ����� ��
��"��� E �� �� �� ��� � "�$$����� E �� ���� �� "�� �� �-- ����� � ��� D #�� E �� ��
���� �� "�� �11���� �� � � �- �0�� �"��� C : #� E� 2 �$��+� � �� ���#$�� �� � �
$� "�$�t����� ���F ��� "����"�$ �� � "�-1$��� �H1���- ����$ �+�$#����� �& �� �2D �"�
��"�0������ �11���" C

: � " ��"� �& ���� ������� �� "�#"��$ �� "���#"� � -�����0&#$ �H1 ���- ����$
�+�$#����� C ?��� 1�1 ��� ���� �0����� � ���0$� ��� �& �- �0�� B #�#�$$% #���0 ��� �&
� � 1�1#$�� 1#2$�"$%=�+��$�2$� �������� �#" �� )�$��" =| ¨�4© B )�$��" = [5 [ ¨46© B
* 8*) ¨}5© B ? (. ¨[}© B ��� '��t ¨�6© C L  �$� � ��� ��������  �+� &#�$�� -#" �&
� � ���- ���" 1��0���� �� � � "���0��% ��"�0������ 1��2$�- �+�� � � $��� &�E %���� B
��" �& � �- �#u��� &��- ��- � 2����� ��$���� �� � � E�% � �% E��� "�$$�"��� ¨z4© C
: � 1��2$�- �� � �� � ��� �& �- �0�� ��F�� 2% � ���0$� 1 ���0��1 �� x��� ��1 �"��$$%
� ���0$� "�-1#��� + ����� ������" ��y �� ��� � ��1���������+� ��-1$� �& ���$=E��$�
�- �0�� C L� ���"#�� ��� �#" 2��� �� )�$��" =| �� (�"���� } C4 C} C � 2����� �11���" 
�� �� #�� �- �0�� ��F�� 2% � $��0� �#-2�� �& "���#-�� 1 ���0��1 ��� B ��� �� #��
-#$��1 $� �������� �� 0#��� �0����� 2����� �� ��% ���0$� "�$$�"���� C

8� � �� " �1��� E� ���"��2 � �H�����+� �H1���- �������� &�� 2�� � � "$����,"�=
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���� ��� $� "�$�t����� ���F� C L� ,��� ��+ ��E � � �������� � �� ��� #��� &�� �#�
�H1���- ���� B ��-�$% � � 1 �1#$�� )�$��" =| ��� ¨�4© ��� � � +��% " �$$��0��0 ��(=
)�7 <@) ���� ¨4� B 4z© C L� 1������ "$����,"����� �H1���- ���� �� (�"���� } C4 C
: � - ��� 0��$ �& � ��� �H1 ���- ���� �� �� #���������  �E � � 1���-����

k
�u�"��

��"�0������ 1��&��- ��"� �&
k
=&�� �1����$ -���$� C L� �$�� "�-1��� �#� ���#$��

�� �� �� ��"��� E��F #���0 1���=2���� �1����$ - ���$� B � �E ��0 � �� �#� �11���" 
�& #���0 �H�"� ��&����"� E �� E��F�� �1����$ -���$� �#�1 ��&��- � #���0 �11��H �=
- ��� ��&����"� E �� ��" - ���$� C L� �$�� "�-1��� "$����,"����� 1 ��&��- ��"� �&
-���$� $������ #���0 � � E��F$%=�#1 ��+���� ��� &#$$%=�#1 ��+���� 1�����0- � B ,��=
��0 � �� � � E��F$%=�#1 ��+���� -���$� �"�#�$$% 1 ��&��- 2����� ���1���  �+��0 $���
0��#�� ��#� ��&��- ����� C L� � �� �#�� �� � � $� "�$�t����� �H1���- ���� B ,���
��#�%��0 1���=$�+�$ $� "�$�t����� �� (�"���� } C� ��� � �� �2D �"�=$�+�$ $� "�$�t�����
�� (�"���� } C| C L� � �E � �� � �  �����" �"�$ -���$� �& ) �1��� z ��0��,"���$%
�#�1 ��&��- � � ���0$�=�"�$� - ���$� B ��� 0�+� �����=�&=� �=��� 1 ��&��- ��"� �� �#�
��K "#$� ���� �������� C

z µ´ á¼»¼Ä¹»Ä

L� #�� � ��� 1#2$�"$%=�+��$�2$� �������� &�� �#� �+�$#������ � )�$��" =| ¨�4© B 455z
��()�7 <@) ¨4�© B ��� 455} ��()�7 <@) ¨4z© C � �#--��% �& � � �������� ��
1�������� �� :�2$� } C[C

: � )�$��" =| ��� ¨�4© ��"$#��� � ����$ �& �2 �#� | B|55 �- �0�� E �� 0��#�� ��#� 
&�� &�#� ���1$���� B - ����2�F�� B "��� B ��� &�"�� C : ��� �� �$�� � ��0���+� �- �0� ���
"��������0 �& 655 �-1�% ���� �"���� ��� 655 0�����$ �"���� � �� �� ��� "������
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�#-2�� �& 1���� �� � � -���$ ��� �#-2�� �& 1�H�$� �� � � �- �0� B 2#� �H1�������$
��

k
C : #� &��� B �H�"� ��&����"� �� 1 ����2 $� &�� �- �$$

k
C 8� &�"� B E� � �E�� � ��
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� � ��%-1����" �#����0 ��- � &�� � '�#�����
1
=&�� �� ������"�$ �� � �� �& �

0
=&�� B

- �����0 � �� ��-1$� 2�0=�&=1���� -���$� "�#$� ��"$#�� ��- � �1����$ "���������� ��
�� ���������$ "�-1#�������$ "��� C

: �
k
=&�� -���$ ��� �H�"� ��&����"� �$0���� - � �$$�E�� #� �� �H1$�"��$% ��#�%

� � �����=�u 2 ��E��� � � ��0��� �& �1����$ "��������� �� � � - ���$ ��� � � "�-1#=
������ "�-1$�H ��% �& ��&����"� C 8� �H1 ���- ����$ ���#$�� E� &�#�� � $��0� �- 1��+�=
- ��� �� ��"�0������ 1��&��- ��"� 2 ��E���

0
=&��� ���

1
=&��� B 2#� $���$� �-1��+�- ���

E �� +�$#�� �&
k
0������ � �� 4 C L� �$�� &�#�� � �� �H�"� ��&����"� E �� 

1
=&�� -��=

�$� �#�1 ��&��- �� "�����$$����� -���$� B E �" #�� � $��0� +�$#� �&
k
2#� �11��H �- ���

��&����"� C : #� �#� ���#$�� �#00��� � �� &�� - ��% �2D �"� "$����� B #���0 � ��$���+�$%
E��F �1����$ -���$ 2#� �� �H�"� ��&����"� �$0���� - �� � � 2 ��� �����=�u 1������� C

?��� �� �� 1���=2���� �11���" �� 2 �0�� 2% �#����0 � &���#�� ����"��� � ��
������,�� � �- �$$ ��� �& 1����2 $� $� "������ &�� ��" 1��� C 8� "������� B �#� �H�"�
��&����"� �$0���� - �-1$�%� &���#�� _b edcg_dh � �� 0�+� � $�F�$� ��� �� �+��% $�=
"����� �� � � �- �0� C @#� ��������"�$ &��- �E��F �� 0�����$ ���#0 �� �$$�E �$-���
��% F��� �& &���#�� �1 ������ C L� ���"��2 �� �E� �1 �"�," &���#�� �1 ������� �� ) �1=
��� | B ��� 2���� �� �- �$$ ��-1$���� �& ��0� &���#��� ��� ���� �� 2���� �� 0�������
 ����0��- � C

8� ) �1��� � E� 1�������� �$0���� - � &�� �#��- ���"�$$% $������0 �2D �"� -���$�
&��- �������0 �- �0�� C *�$�F� -��� �� �� $������0 �11���" �� B �#�� ���� ��� #��
&���#�� ����"���� �� ���#-� � 1��=��,��� 1��� �11 �����"� -���$ C 8� "������� B E�
$���� � � �11�����"� ��� �1����$ "�-1������ �& � � -���$ ��-#$�����#�$%C L�
1�������� � ��� ��u����� �$0���� - � � �� ��u�� �� � � �-�#�� �& �#1 ��+����� � �%
��/#��� � � E��F$%=�#1 ��+���� - �� �� � �� ����� ��$% � ��� �& �- �0�� F��E� ��
"������ � � �2D �"� �& �������� B � 1�����$$%=�#1 ��+���� -�� �� � �� ��/#���� 2 �#����0
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2�H�� ���#�� � � �2D �"� ������"�� B ��� � &#$$%=�#1 ��+���� -�� �� � �� ��/#����
� � $� "����� �& ��" 1��� �� ��" ����� ��0 �- �0� C : � $��� �#1 ��+���� -�� ���
��/#��� $���  #- �� �u��� 2#� ��� �$�� -��� "�-1$�H ��� ��F� - ��� "�-1#������
�� "�-1$��� � � $������0 1�� "��� C : #� � � &�- �$% �& �$0���� - � �u��� � �����=�u
2��E��� "�-1#������ "��� ���  #-�� �u��� C (#�1�����0$%B -��� �#1 ��+����� �� ��
��� ��"������$% $��� �� 2 ����� - ���$� G �� &�"� B �#� �H1���- ����$ ���#$�� � �E � ��
-���$� ������� 2% � � E��F$%=�#1 ��+ ���� �$0���� - "���������$% �#�1 ��&��- � � ���
$������ #���� &#$$ �#1 ��+����� C

8� ) �1��� z E� � �E��  �E � � -���$� ��� ��&����"� �$0���� - � "�� 2� 0����=
�$�t�� �� "�1�#�� �+����"� �"���� -#$��1$� �- �0� �"�$�� C : �� �� #��&# $ &�� ��"$#���0
"����H�#�$ "#�� &��- � � �#���#����0 �"��� �� - �F��0 "$����,"����� ��� $�"�$�t�=
���� ��"������ C L� � �E��  �E �� 2#�$� � ���0$� -���$ � �� ��"$#��� �+����"�
&��- 2�� � � �"��� ��� � � �2D �"� ���  �E �� 1 ��&��- �H�"� ��&����"� �� � ��
#��,�� -���$ C : � �"��� ��� �2D �"� -���$� E��� ������� �#��- ���"�$$% #���0 �#�
1�����$$%=�#1 ��+���� $������0 �$0���� - C

!���$$% E� 1�������� �H�����+� �H1���- ����$ ���#$�� �� ) �1��� } B ������0 � �
1��1 ���� - �� ��� �� 2�� � � "$����,"����� ��� $�"�$�t����� ���F� C L� #��� ��+=
���$ ���� �������� ��"$#���0 �E� +��% " �$$��0��0 "�$$�"����� �& "���#-�� �- �0�� C
L� &�#�� � �� �#� �11���" �#�1 ��&��- �� �� �� 1���=2���� �1����$ -���$� �#" ��
"�����$$����� -���$� �� � � "$����,"����� ���F C @� � � $� "�$�t����� ���F B E� &�#��
� �� � �  �����" �"�$ ��� �"��� -���$� 1��1���� �� ) �1��� z �-1��+�� � � 1 ��&��=
- ��"� ��0��,"���$%C @#� �11���" E��F� +��% E�$$ &�� ��$���+�$% ��0�� �2D �"�� $�F�
���1$���� B -����2�F�� B ��� 2�"%"$�� B - �����0 �� �H"�����0 � � 1 ��&��- ��"� �& � �
2 ��� F��E� �$0���� - � C !�� $��� ��0�� �2D �"�� $�F� ���- �$� B �#� �11���" 1 ��&��- �
$��� E�$$ 2#� �� ���$$ �-��0 � � 2 ��� �$0���� - � �� � � $������#�� C
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: � �K "���� ��&����"� �$0���� - � 1�������� �� ) �1��� � &�� '�#�����
k
=&��

-���$� #�� �E� +������� �& � � "��+�$#���� �1������ C : �� �11 ����H ��,��� � ���
�1 �������� ��� 1������� ��+���$ ��" ��/#�� &�� "�-1#���0 � �- G � � 2 ��� ��" ��/#�
&�� � 0�+�� �11$�"����� ��1���� �� � � &��- �& � � ��1#� &#�"����� ��� � � �""#��"%
� �� �� ������� C L� ,��� ���"��2 � � � ��0#$�� "��+�$#���� �1 ������� ��� �H1$���
 �E �� "�-1#�� �� �H�"�$% #���0 � � !�#���� �����&��- C 8& ��� �& � � ��0��$� ��
'�#����� E� � �E  �E �� "�-1#�� � 0��� �11��H �- ����� �& � � "��+�$#���� ��
$����� ��- � B ,��� �� ��� ��- ������ ��� � �� 0�����$�t��0 �� -#$��1 $� ��- ������� C
: ��� ��" ��/#�� ��� E�$$=F��E� �� � � "��+�$#���� �1������ �� /#��� 1 ��+���+� ��
"�-1#��� +����� ��� ��0��$ 1�� "�����0 �� 0�����$ C L� ���"��2 � � �-  ��� �� � E�%
�& ������#"��0 ���$�0�#� ��" ��/#�� &�� � � $�����=F��E� - ���-#-="��+�$#����
�1������ B E �" E� ���"��2 � �� (�"���� � C4 C L� � �E � �� - ��="��+�$#���� "�� 2�
+��E�� �� � 0�����$�t����� �& � � ������"� �����&��- C L� ���"��2 �  �E �� "�-1#��
� � - ��="��+�$#���� �K "����$% E �� ��� �& � � &#�"����� �� "��+�H B �� �� � � $�0=
���- �$ #��� 2% � � $� "�$�t����� �$0���� - �& (�"���� � C4 C[C

E µ´ 8¾ñ#¾Ã�»ê¾ñ

���"���� "��+�$#���� �� � E�$$=F��E� ��" ��/#� � �� �� #��� �H�����+�$% �� ��0��$
��� �- �0� 1��"�����0 ¨�{© C : � "��+�$#���� �& �E� ���"���� &#�"�����

f
���

g
�� B

(f ∗ g)(p) =
∑

q

f(q) · g(p − q).
x� C[y

8� 1��"��"� � � &#�"����� ��� ,���� �� � �� � �% ��� ���=t��� �+�� ��- � ,���� 1������
�& � ��� ��-��� ��� ��� t��� �$��E ��� C � $�� B �� - ��% �11$�"������ ��� �& � �
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&#�"�����  �� � -#" �- �$$�� ���=t��� ��- ��� � �� � � �� �� C : �� �� � � "���
&�� � � "$����,"����� �$0���� - �& (�"���� � C[B �� E �" E� "��+�$+� � 1��2�2�$��%
- �1 E �� � ��$���+�$% �- �$$ '�#����� F����$ C L� E �$$ 0�����$$% 2 � ���������� ��
&#�"����� �& �E� ��- ������� B 2#� �$$ �& � � ���"#����� ��� ��" ��/#�� 1��������
 ��� 0�����$�t� �� ��2�����% ��- �������$��%C

: � ��7+� �-1$�- �������� �& "��+�$#���� ��+�$+�� "�-1#���0 � � �#- �� �/#�=
���� x� C[y �H1$�"��$%C : �� ��F�� ��- �

O(|f | · |g|)
B E ���

|f |
���

|g|
��1������

� � �#-2�� �& ���"���� �$�- ���� �� � � ���=t��� ��-��� �&
f

���
g
B ���1 �"��+�$%C

: �� �11���" �� �������2$� E �� ��� �& � � &#�"����� �� �- �$$ 2#� �� �� ��E ���
1�� �2���+�$% �H1����+� C L� ��E ��+��E ��-� �& � � &����� �- 1$�- ��������� �&
"��+�$#���� C � $$ �& � ��� ��" ��/#�� ��� E�$$=F��E� B 2#� E� ��+ ��E � �-  ��� ��
���+� �� � 2���� &�� � � ���"#����� �& - ��="��+�$#���� �� (�"���� � C4 C

E µ´µ´ F¿¹X�¹ñºÀä·¼Ä¹Â Á¹»�¾Â

� &����� - �� �� �� �� "�-1#�� � � "��+�$#���� �� � � &��/#��"% ��-��� C : �
"��+�$#���� � ����- ������ � �� � � !�#���� �����&��- �& � � "��+�$#���� �& �E�
��0��$� �� �/#�$ �� � � 1���#"� �& � ��� !�#���� �����&��- � ¨�{© C : #� "��+�$#����
"�� 2� "�-1#��� E �� �E� !�#���� �����&��- � B � -#$��1 $�"����� B ��� �� ��+����
!�#���� �����&��- B

f ∗ g = F−1 {F{f} · F{g}} ,

E ���
·
������� 1����E ��� -#$��1$�"����� �& "�-1$�H �#-2��� C * ���0 � � !���

!�#���� :����&��- x!!: y �$0���� - ¨[[© B � �� "�-1#������ ��F�� ��%-1����" ��- �

O(|f | log |f |+ |g| log |g|)
C 8� 1��"��"� � �� - �� �� �� � � 2 ��� " ��"� &�� $��0� "��+�=

$#���� F����$� C !�� �- �$$�� F����$� � � ��7+� �$0���� - �2�+� -�% 2 � &����� 2 �"�#��
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�& � � $��0�  ����� "�������� �� � � �#����0 ��- �� &�� � � !!: ��� "�-1$�H -#$=
��1 $�"������ C

E µ´µè é¹ã¼¿¼· Ã¹ 5¹¿ñ¹ÃÄ

!����� "��+�$#���� �� 1����2 $� E �� ��� �& � � ��0��$� �� h ebcdc®meB �� � �� �� "��
2� E ������ �� � 1���#"� �+�� ��- ������� B

g(p) =
d
∏

i=1

gi(pi),

E ���
pi

������� � �
i
=� "�-1����� �& � � +�"���

p
���

d
�� � � ��- �������$��% �&

p
C

: � "��+�$#���� "�� � �� 2� "�-1#��� �� �#""����+� ���=��- �������$ "��+�$#�����
�� ��" �& � � ��- ������� B

f ∗ g = f ∗ g1 ∗ g2 ∗ ... ∗ gd.

: �� ��F�� ��- �
O(|f | · |gi| · d)

B E ���
|gi|

������� � � ��t� �& � � $��0��� ��- ������
�� � � ��-��� �&

g
C

E µ´µï =¼�ÄÄê¼ñ 5¹¿ñ¹Ã ¼ãã¿¾0 êÁ ¼»ê¾ñÄ

!#�� �� �1 ���=#1� �� "��+�$#���� ��� 1����2$� �& �� $���� ��� �& � � ��0��$� �� � '�#�=
���� C L �� �#� $��� �& 0�����$��%B ���#-� � ��

f
�� �� ��2�����% ��-1$�� &#�"����

���
g
�� � � '�#����� B

g(p) = N (p|µ, Σ).

: �� ���#����� �� �& �������� �� �#� �11$�"����� �� '�#�����
k
=&�� ��&����"� �� ) �1=

��� � B �� E �" ��� &#�"���� �� �� ��2�����% 1��2�2�$��% ������2#���� 1���#"�� 2% �
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1��� �1 ������ ��� � � �� �� �� � �- �$$ '�#����� F����$ C 8& � � "�+�����"� - ����H
Σ

�� ���0���$ B � �� � � "��+�$#���� F����$ �� ��1���2$� B

g(p) =

d
∏

i=1

N (pi|µi, Σi,i),
x� C4y

��� � � "��+�$#���� "�� 2� "�-1#��� #���0 � � -�� �� 1�������� �� � � $��� ��"=
���� C 8� &�"� B +��% 0��� �11��H �- ������ �& ���=��- �������$ '�#����� "��+�$#�����
"�� 2� �2������ �� $����� ��- � #���0 -#$��1 $� "��+�$#����� E �� � 2�H ,$��� ¨6�© C
: #� &�� ���0���$

Σ
B � 0��� �11��H �- ����� �� "��+�$#���� "�� 2� "�-1#��� ��

����$ ��- �
O(|f | · d)

C

8& � � "�+�����"� - ����H �� ��� ���0���$ B � � &�"����t����� �+�� �H ��=��������
��- ������� �� �/#����� x� C4y ���� ���  �$� C @�� �11���" �� �+��"�- ��0 � ��
1��2$�- �� �� ������ � � ��0��$�

f
���

g
�#" � �� � � '�#����� ��

g
�� �H ��=�������� C

8� �� �� E���� B E� "�� ��E ���� � � "��+�$#���� �� B

(f ∗ g)(p) = f(RT p) ∗ N (RT p|RTµ, Σ′),

E ���

Σ′ =
(

RT ΣR
)

,

���
R

�� � �������� - ����H x� C� C � ���$ �/#��� - ����H E �� 
RT = R−1

���
|R| = 1

y C
L� "�� ,��

R
�#" � ��

Σ′
�� � ���0���$ - ����H #���0 � � ��0����"�-1������� �&

Σ
¨��© B

Σ = RΣ′RT .

(#" � ��"�-1������� �� 0#�������� �� �H ��� 2 �"�#�� �� � "�+�����"� - ����H B
Σ

��
�%--����" ��� 1�����+� ��,���� ¨}}© C

: �� �#00���� �� �11���" &�� I"��+�����0J � "��+�$#���� E �� �� ��2�����%
-#$��+������ '�#����� F����$ ���� � ��1���2$� 1��2$�- C L� ,��� ,�� � ��������
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-����H
R

��� ���0���$ - ����H
Σ′

#���0 � � ��0����"�-1������� �&
Σ
C : �� E�

������ � � "���������� �& � � ��0��$
f

#���0
R
B �#� ��1���2$� "��+�$#���� E �� 

Σ′
B

��� � �� ������ � � ��0��$ 2�"F C ;�" �������� ��/#����
O(|f |)

��- � C : � ����$
��- � ��/#���� �� "�-1#�� � � "��+�$#���� � #� ��F��

O(|f | · d)
��- � B #���0 � � 2 �H

,$��� �11��H �- ����� &�� � � [=� '�#����� "��+�$#����� C

L�  �+� &�#�� � �� � �� - �� �� �� � � &������ �� 1��"��"� C <��% �K "���� �$=
0���� - � �H ��� &�� �- �0� �������� 2���� �� ��+���$ 1����� �& ��-1$� � �����0 �1=
�������� ¨z5© C @� -��� - ����� "�-1#���� � � ��������� "�� 2� 1��&��- �� 2% � �
'��1 �"� ���"�����0 *��� x'�* yB � #� ��F��0 +��% $���$� )�* ��- � ¨�|© C A���  �E=
�+�� � �� ��- � ����� �� ������#"�� 2 �"�#�� �����1�$����� �� ��"�����% E �� �������0
� � ���"���� &#�"����

f
��� ��=��-1$��0 �� �� � ��"���0#$�� 0��� C : #� � �� - �� ��

1���#"�� �� �11��H �- ����� �� "��+�$#���� E �� � '�#����� F����$ C L�  �+� &�#��
� � �11��H �- ����� �� 2 � +��% 0��� �� 1��"��"� ��� ���/#��� &�� �#� �11$�"����� C 8&
�� �H�"� ���E�� �� ��/#���� B � � - �� �� 2���� �� !�#���� �����&��- � -�% 2� #���
������� C

E µè ¶ êñäº¾ñ#¾Ã�»ê¾ñ

� +������ �& �������� "��+�$#���� �� - ���-#-="��+�$#���� B �� E �" � � �#- ��
��1$�"�� 2% � - ���- �t����� B

(f ⊗ g)(p) = min
q

f(q) + g(p − q).

�� E �� �#� ���"#����� �& "��+�$#���� B E� E �$$ ���#-� � ��
f
���

g
��� &#�"����� �&

��2�����% ��- �������$��% ��-1$�� �$��0 � ���"���� 0��� B ��� � �� � �% ��� ���=t���
�+�� ��- � ,���� ��-��� C
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?��="��+�$#���� "�� 2� "�-1#��� 2% 2�#�� &��"� ��
O(|f |·|g|)

��- � &�� ��2�����%
��-1$�� &#�"�����

f
���

g
C )#���#�$%B � � &������ F��E� �$0���� - &�� "�-1#���0

� � - ��="��+�$#���� �& �E� ��2�����% &#�"����� ��
O( |f |·|g|

log |f |·|g|
)
� -#" E���� � ��

� �
O(|f | log |f | + |g| log |g|)

2�#�� &�� �������� "��+�$#���� ¨�© C : � ��K "#$�%
���- � &��- � � &�"� � �� - ��="��+�$#���� �� ��� ��+����2 $� B E ����� � � ��������
"��+�$#���� �� C : #� � ��� �� �� F��E� ���$�0#� �� � � !�#���� �����&��-=2����
�11���" &��- �������� "��+�$#���� C

9�E�+�� &�� �2D �"� $� "�$�t����� E �� '�#�����
k
=&��� E� ��� ��1 �"��$$% �����=

����� �� - ��="��+�$#����� �� E �" ��� �& � � &#�"����� �� � � $�0���� - �& � '�#�=
���� B �� ���"#���� �� (�"���� � C4 C : � ��- ������ �& � �� ��"���� ���"��2 �� ��+���$
- �� ��� &�� "�-1#���0 � � - ��="��+�$#���� �K "����$% E �� � �� ������"���� 1$�"��
�� ��� �& � � &#�"����� C L� ,��� ���"#�� � � "����"���� 2 ��E��� - ��="��+�$#����
��� � ��$���� �1������� B � � 0�����$�t�� ������"� �����&��- C L� � �� 0�+� ��

O(n log n)
�$0���� - &�� "�-1#���0 � � [=� - ��="��+�$#���� 2��E��� �E� &#�"=

����� E ��� ��� �& � �- �� "��+�H C !���$$% E� "�������  �E �� �H���� � �� ���#$�
�� &#�"����� �& ��2�����% ��- �������$��%B ���#- ��0 � �� ��� �& � � &#�"����� �� �
$�0='�#����� C

E µè µ´ 8¾ññ¹º»ê¾ñ 4 ê»� ÂêÄ»¼ñº¹ »¿¼ñÄâ¾¿Á

: � k«hgcf ­e gdcfhç _d` �& � 2����% �- �0� �� � E�$$=F��E� ��" ��/#� �� �- �0�
1�� "�����0 ��� "�-1#��� +����� ¨�{© C 8� �� #��� �� ,�� �F�$����� �& ��0���$ � �1 ��
��� �� �-1$�- ��� -��1 �$�0�"�$ �1 �������� �#" �� ��$����� B &�� �H�-1$� C 8� �� �$��
F�% �� �K "���� �-1$�- ��������� �& �2D �"� ��"�0������ #���0 9�#����u ������"� ¨||© C
!�� ��" 1�H�$ B � � �����&��- "�-1#��� � � ������"� �� � � ������� 1�H�$ E ���
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2����% +�$#� �� ��� C ?��� &��- �$$%B � � ������"� �����&��- �& � 2����% �- �0�
I
�� B

Dd{I}(p) = min
q∈I

(d(p, q) + 1(q)) ,

E ���
1(q)

�� �� ����"���� &#�"���� � �� �� ��� �&
I(q) = 1

��� ��
∞

�� ��E ��� C
: � &#�"����

d(p, q)
�� �� ��2�����% ������"� - ����" B E �� � � -��� "�--�� " ��"�

2 ���0 ;#"$����� ������"� x
L2

���- yC !��� B $�����=��- � �$0���� - � �H ��� &�� � �� ���
�� �� "�--�� " ��"�� �& ������"� - ����" ¨4}© C

� 0�����$�t����� �& � � ������"� �����&��- �� 1����2 $� 2% ��-�+��0 � � ������"=
���� � �� � � ��1#� �� 2����%B

Dd{I}(p) = min
q∈I

(d(p, q) + I(q)) .
x� C�y

: ��  �� 2 ��� "�$$�� � � ± ef edcm«� ek k«hgcf ­e gdcfhç _d` ¨�5© C A��� � �� � � ��1#�
���� ��� 2 � �� �- �0� B 2#� - �% 2� ��% &#�"���� ��-1$�� �� � ��0#$�� 0��� C

: ��� �� �� ����������0 "����"���� 2��E��� � � 0�����$�t�� ������"� �����&��-
��� - ��="��+�$#���� C 8� 1����"#$�� B &�� ��% &#�"�����

f
���

g
B

f ⊗ g = Dg′{f},

E ���

g′(p, q) = g(p − q).

E µè µè ¶ êñäº¾ñ#¾Ã�»ê¾ñ êñ ¾ñ¹ ÂêÁ¹ñÄê¾ñ

�� �K "���� �$0���� - &�� � � ���=��- �������$ 0�����$�t�� ������"� �����&��- ��
1�������� �� ¨4{© &�� � � �1 �"��$ "��� � �� � � ������"� - ����" �� � "��+�H &#�"���� C
? ��% #��&#$ ������"� &#�"����� ��� "��+�H B ��"$#���0 � � ;#"$����� ������"� ���
� � ?� �$���2�� ������"� C : �� �$0���� - #��� � � &�"� � �� � � ������"� �����&��-
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�� � � $�E�� ��+�$�1 � �& � ��� �& "��+�H &#�"����� C : � �$0���� - �#�� �� �-����t��

O(|f |+ |g|)
��- � B 2#� � � ��%-1����" �#����0 ��- � ���$%���  ���� � ��$���+�$% $��0�

"������� C

L� 1������ � -#" ��-1$�� �$0���� - &�� "�-1#���0 � � ���=��- �������$ ���=
���"� �����&��- E �� � "��+�H &#�"���� C : � ��%-1����" �#����0 ��- � �� E����
� �� � �� �& ¨4{© 2% � $�0���� - �" &�"��� B 2#� �� �� &����� �� 1��"��"� &�� �%1�"�$
�- �0�� 2 �"�#�� ��  �� � �- �$$��  ����� "������� C : � �$0���� - #��� � ��+ ���=���=
"��/#�� ������0% � �� ��1 ���� #1�� � � &�$$�E ��0 �E� � ����- � C

Z¡����� R ²� ²� J_d cfa ç ¬f ­g«_fh f, g : R 7→ R
K «gë g ­_fªe, i cfk cfa p, d ∈ R

K «gë p < di gë ede e, «hgh r ∈ R
h¬ ­ë gëcg

f(r) + g(p − r) = (f ⊗ g)(p),

Kë ede
r ≤ arg min

q
f(q) + g(d − q).

S���� L� 1��+� � � � ����- 2% "�������"���� C (#11��� � �� &�� ��- �
f
B
g
B
p
B ���

d
� ��� �� �� �#" 

r
C : �� $��

q∗ > s
2� � � �- �$$��� +�$#� �#" � �� B

(f ⊗ g)(p) = f(q∗) + g(p − q∗),

E ���
s
�� � - ���- �t��0 1���-���� �&

(f ⊗ g)(d)
B

s = arg min
q

f(q) + g(d − q).

>�"�#��
s
�� � - ���- �t��0 1���-���� �� -#�� 2 � � �� B

f(s) + g(d − s) ≤ f(q∗) + g(d − q∗),
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��� ���"�
q∗

�� � � $���� - ���- �t��0 1���-���� �&
(f ⊗ g)(p)

B

f(q∗) + g(p − q∗) < f(s) + g(p − s).

>% "�-2����0 � ��� �E� ���/#�$����� E� �2���� B

g(p − s) + g(d − q∗) > g(d − s) + g(p − q∗).
x� C|y

!��- � � &�"�� � ��
s < q∗

���
p < d

B E�  �+�
p − q∗ ≤ d − q∗ ≤ d − s

���

p − q∗ ≤ p − s ≤ d − s
C (��"�

g
�� "��+�H B 2% � � ��,������ �& "��+�H ��% E�  �+�

� �� &�� ��% ���$ �#-2���
x

���
y
��� ��%

t ∈ [0, 1]
B

g(tx + (1 − t)y) ≤ tg(x) + (1 − t)g(y),

��� �� 1����"#$�� B

g(d − q∗) ≤
q∗ − s

d − s − p + q∗
g(p − q∗) +

p − d

d − s − p + q∗
g(d − s),

g(p − s) ≤
d − p

d − s − p + q∗
g(p − q∗) +

q − s

d − s − p + q∗
g(d − s).

>% "�-2����0 � ��� ���/#�$����� E� "�� E ���� B

g(p − s) + g(d − q∗) ≤ g(d − s) + g(p − q∗).

>#� � �� ���/#�$��% "�������"�� �/#����� x� C|y C : #� �� -#�� 2 � � ��
q∗ ≤ s

B ���
� � � ����- �� 1��+�� C

Z¡����� R ²� ²� J_d cfa ç ¬f ­g«_fh f, g : R 7→ R
K «gë g ­_fªe, i cfk cfa p, d ∈ R

K «gë p > di gë ede e, «hgh r ∈ R
h¬ ­ë gëcg

f(r) + g(p − r) = (f ⊗ g)(p),

Kë ede
r ≥ arg min

q
f(q) + g(d − q).
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S���� >% ���$�0% E �� � � �2�+� 1���& C

:�F�� ��0�� �� B � ��� � ����- � -��� � �� ��"� � � - ��="��+�$#���� �� ��- �
1����

d
�� �+�$#���� B � � ��- ��� �&

f
"�� 2 � 1���������� �#" � �� �+�$#����0

� � - ��="��+�$#���� �� 1����� �� � � $�&� �&
d
��+�$+�� ��$% � � $�&� 1�������� B ���

�+�$#����0 �� �� 1 ����� �� � � ��0 � �&
d

��+�$+�� ��$% � � ��0 � 1�������� C : ��
�#00���� � ��"#���+� �$0���� - &�� "�-1#���0 � � - ��="��+�$#���� �� �$$ 1 ����� ��
� � ��- ��� �&

f
B E �" E� ��E 1������ C

éêëìíëîíïîðñêëòïðóíêëô
(F, G, f1, f2, d)�>

s ⇐ f1� > ���
i = f1

��
f2

��� > ��
F [i] + G[d − i] < F [s] + G[d − s]

�¡��
� >

s ⇐ i
GT > ��� ��

õ > ��� ���
ö > ������

s

éêëìíëîíïîð
(F, G, D, f1, f2, d1, d2)�> ��

d2 − d1 ≥ 0
�¡��� >

d ⇐ b(d1 + d2)/2c� >
s ⇐

éêëìíëîíïîðñêëòïðóíêëô
(F, G, f1, f2, d)� >

D[d] ⇐ F [s] + G[d − s]T > é êëìíëîíïîð
(F, G, D, f1, s, d1, d − 1)õ > é êëìíëîíïîð
(F, G, D, s, f2, d + 1, d2)ö > ��� ��

)�$$��0 éêëìíëîíïîð
(F, G, D, f1, f2, f1, f2)

"�-1#��� � � - ��="��+�$#���� �&
����%

F
 �+��0 ��- ���

[f1, f2]
E �� ����%

G
��� 1$�"�� � � ���#$� ���� �� �#�1#�

����%
D

C : � E����="��� �#����0 ��- � �& � � �$0���� - ��
O(|f | log |f |)

xE ���
|f | =

f2 − f1 + 1
y C :� ��� � �� B ���� � �� ��" ��"#���+� "�$$ �� éêëìíëîíïîð ��+����

� � �#�1#� ����% ��  �$& B �� � � - �H �-#- ��1� �& ��"#���+� "�$$� ��
O(log |f |)

C
?����+�� �� ��% 0�+�� ��1� �� � � "�$$ " ��� �& éêëìíëîíïîð B �$$ �& � � "�$$�
�� éêëìíëîíïîðñêëòïðóíêëô ��F� ����$ ��- �

O(|f |)
C : #� � � �+���$$ �#����0

[�|



��- � ��
O(|f | log |f |)

C

8� 1��"��"� B � �� �$0���� - �� �%1�"�$$% &����� � �� � � $����� ��- � �$0���� -
�& ¨4{© &�� ��0��$� E �� 

|f |
�� � � ����� �& � � �#���� �� $��� C : �� �� � � �%1�"�$

�"������ &�� � � �2D �"� ����"���� E��F E� 1������  ��� B E ���
f
�� � ��E �� "�$#-� �&

�� �- �0� C :� -���#�� � �� -��� "��"����$%B E� 1 ��&��- �� �� �H1 ���- ��� �� E �" 
E� - ��="��+�$+�� �����- ��0��$� �& ��u����� ��t�� E �� � � &#�"����

g(x) = x2

��� -���#��� � � �#����0 ��- �� �� � � C5 '9t ���� �%���- C L� &�#�� � �� �#�
��"#���+� �$0���� - E�� �4 C|S &����� E ��

|f | = 10
B
9.9%

&����� E ��
|f | = 100

B
6 CzS &����� E ��

|f | = 1, 000
B ��� 4[C{S �$�E�� E ��

|f | = 10, 000
C

E µè µï ¶� Ã» êÂ êÁ ¹ñÄê¾ñ¼Ã Á êñäº¾ñ#¾Ã�»ê¾ñ

�� E �� ��0#$�� "��+�$#���� B - ��="��+�$#���� E �� -#$��=� �- �������$ &#�"����� "��
2� "�-1#��� #���0 �#""����+� �11$�"������ �& � � ���=��- �������$ �1 ������� �& �
��1���2�$��% "�������� �� �����,�� C 8� 1����"#$�� B �& ��� �& � � &#�"����� "�� 2�
E ������ �� � �#- �+�� ��- ������� B

g(p) =
d
∑

i=1

gi(pi),

� �� � � - ��="��+�$#���� "�� 2 � E ������ �� ���- � �& ���=��- �������$ �1 �������� B

f ⊗ g = f ⊗ g1 ⊗ g2 ⊗ ... ⊗ gd.

: �� �� ���$�0�#� �� "��+�$#���� E �� ��1���2$� , $���� ���"#���� �� (�"���� � C[C4
�H"�1� � �� � � &�"����t����� �� � �#- �+�� ��- ������� ������� �& � 1���#"� C

: #� E�  �+� � 1��"��#�� &�� 1 ��&��- ��0 � � - ��="��+�$#���� �& �� ��2�����%
��0��$ E �� ���� �� &#�"���� � �� �� ��1���2$� ��� "��+�H C @�� �#" &#�"���� � ��
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�����,�� 2�� ��/#���- ���� �� � � �/#���� ;#"$����� ������"� B

dE(p, q) =

d
∑

i=1

(pi − qi)
2,

E ���
d
�� � � �#-2�� �& ��- ������� �� � � ��0��$ C ? ��="��+�$#���� E �� � � ;#=

"$����� ������"� �� #��&# $ &�� �11$�"������ $�F� 9�#����u -��" ��0 ��� 1��&��- ��0
� � -����$ �H �� �����&��- ¨�{© C

� � E� ���"#�� �� (�"���� � C4 B &�� $� "�$�t����� E �� '�#�����
k
=&��� E� ��� ��=

�������� �� � � �/#���� ?� �$���2�� ������"� B

dM(p, q) = (p − q)T Σ−1(p − q).
x� C�y

: �� ������"� &#�"���� "�� 2 � E ������ �� � �#- �+�� ��- ������� �& ��� ��$% �&
Σ

��
� ��0���$ CÅ ?����+�� � � ?� �$���2�� ������"� �� "��+�H �&
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